
���� ������	
�� ��� 
���
�� 
� ������ ��������

���� �������

��	
��

 �������� �����	���� �� ������

���

���� ��� ��� ���� � ! �" ��� #�$��� " � $�� 

��	���� �����	����

���

��#!�$�� ��#���!��

��	�%�����	� �����	����

������ �������� 	�� 
���� ��
��	������ �������� ��� ������� ���������� 	����
	������ �����
�	�	 	�� 
����
��� 	� �	����� ������� 	�� ���� �� ����
��� ����	�� ����� ��� ������� ����������
���
������� ���
� ������ ����� �	�� ������ 
�����	���� �� ����� ������ ��	��� ���� �	�	 ��	�����
����� �� 
� ��������Æ
���� �� �	������ ������� ��������� �� ���� �	���� �� ������� 	 �����
����������� ��� ��	���� ������ ������ �	���
� �� ������ �	�	
	�� �������� �� ������� 	 ���
�����
�� ��	� 
	������� �
������� ����	�� ��	���������� �� 	� �� 	���� 
��������� 	� ��� � ! �	����
���
� 	�� ����� 	����� �� ��� �
������� ����� �	���� 
	� 
� �" ���� �� ��� ���� 	�� ���� ����
�	�� �� ������ �������#��� ���� ������	��� �� ���� ��� ������� �����
��� 
	� 
� ��������� ��
�����	
� ���
����
	��� ���� ��� �
�������� ��
������� ��������� �� �����#
	�� ������ �	����� 	� ���

��� �� ������ �	���
�� �� ��������	�� ��� �"�
�������� �� ��� 	����	
� 
� ��	�� �� 	 ��������
�����	���� ������ ����� 
��� ��������
 �	�	 	� ���� 	� ��	������� ��	Æ
 ������	���

!	�������� 	�� ��
$�
� %��
�������& !�'�( )�������� �	
���
 ���
���
����
 � ���������

��������
���� �������
 � ��
�������� �	
���
*& %�����
���� %	�	
	���+ !�'�' )����

����� �	
���
 ���
���
����
 � �����������������
���� �������
 � ������� ����

�����
*& ,������ -����
���

.����	� /����&  ���������

 �������	� 0�� ����� 	�� -��	���& ������ 
������	����� ���� �
��������� ������ ��������

&' ������������

������ �������� 	���
��
�� �� �
��� ����� �
�� ����
��� 	�
�����
�� ��� 	�
�

��
	��
�� 	����
�
�
�� ��� ��	�

�� ��
��
����� � �������� �����
�
 ���� ���
�
����� ��	����� �
��� � ������ ������� �� � �
���
����� ���������� ��� ������
����� �� �����	� 
����
��
�� �� 
� �	�
�� ��	�����
�� ����
�� 
� � ���
��� �� �!"�
#� ������
�� � ���������� ��� ������ 	���
��� 

������� �


���
��� �� ������
����� �� 	�
�����
��� 	�

��
	��
�� ��� ������ 	����
��
��� $����� 
� ���

-��������� �� �	�� �����	�1�	�� 
��� �� 	�� �� �	�� �� ���� �	����	� ������� ��� ��� ������	�
�� 
�	������ ��� �������� ��	� ��� 
����� 	�� ��� �	�� �� ������
���� ��� ���#� �� 
�����
�	�
	��	��	��� ���  !� 
��������1������ ����
�� ��� ����� �� ��� ��
��
	����� 	�� ��� �	�� 	���	�� 	��
����
� �� ����� ��	� 
������ �� 
� ���������� �� ���  !�� ��
� /� 
��� ���������� �� ����
�����
�� ���� �� �������� �� �� ��������
��� �� ����� ��2����� ����� ���
�#
 ���������� 	��1�� 	 ����

� '344  !� 3333�33331'34413333�3335 67�33

��� ������	 
���
 ��	� �
 
�� 

 ����� ����
 ����� �����



� � ���� ������� 	
 ��



��� �������� ������	� ��� ���������� ��������������� ������ �
�	� ���
� 	�

��
�
	��
�� 	����
�� 
��� �� ��� ���
����� ������� ����������� ���� ��������Æ	
���
������
���

���
�� ��	��
���� 
� ����� �� ������ ���
� �
���

��

�� 

������� 	�

��
	��
�� ������� �
��
� ������ �������� 
� ��� ����
�� ��
������ ����
��� ���
 ��� ����� ����� ���� ��� ���������� �������� �� �� ��������
�� ���
������ ������ ������ �������� �� �� ������ %�� ���
���� 	���
��� � �������
������� ������ ������� �
�� ��� ����� �� ������ �����& 
��� �
�����	��� ������
��	�� �
�� ��������� 
���
���� 	�

��
	��
�� 	����
�
�
��� ��� � ��� ��������

���
�� ��	�� 	����	��� �� ��� #�������� #� ��
� ������ ���� '��� ���
 ��� ����	��
�� ��� ������� ������ ������� ���
��� 
� 
��
����� �� ������	� ���
��� �������
������
��� ���������
� #��������� ���	���
�� �����
��
� 	����
���� ���� 	����	�
��
��� ���	���
�� 
� ��� ������� �� ���
������ ������ ��
	� �	� �� ���� �
��� ()���
����
� �� ��� *++*, -���� �� ��� *++./� �
�	� ������ 
� � 
� �� ������	� 	������
���
�� ����� �
�� ��
� ���� '�� ������� ����	�� ��� �
��� �� �� �� ��������Æ	
���
�� ����
���, 
� ����
	����� ��� �����

��	�
�
	�� ����
	��
���� �� ����� �
�� �� �����

������ �����	� ������ ������ ����� �� ������ ��� ������ ���
 ��� ����� �����
���� ��
�
����� �� ��� �
����

#� ����� �� �	�
��� ��������Æ	
��� ���� '��� ������� ����	�� ��� �
���� �� ���
����� ������� 	��������� 
���
��
	 �� �� ��	 ������� 	�

��
	��
��& 

�


0
��
	���
�
��� �� ��� ��1 ������ 
����
�� ���
�� 
� � ��������Æ	
��� 
������ ���
����	�
�� ��������Æ	
��� ������� #� ��
� ����� �� 	���
��� ���� �
���

���
�� ��
������
�� ���� ���
� 	���
�
��� 2��� 
������ �������

��
���3 �� ��� 	��� �� �
����

������ �����	�� 4� 	�������� 	����
���� �����

��
��� ������� ������ �����
��
���
 �� ���� ���
� ���
�� �5 
��� �� ��� �

�� 1������ �������
�� ���
�� 	����
�
������ �� 
�	� ����� ���� �
����
�� �� ��	�
�
�� �� ���� �����

��
�� 2���
	��

���&��	�
��&�����

� ���
�� ��� 6&6&*�7 (1������� �
	�* *++8/� 6&6�*&6�7 (1��� �� ���
*++*/� 6&*&*�8 (9����� *++6/� ��� 6&6�+8&6�: (���

 ��� 9��0 6;;7/3� <���� ���
��
�
�� �� ���� ���
 �5 ���� ��� ������ �
���� �
��
=	��� ������ ���
����

<�
� ����� 
� �����
0�� �� �������& ��	�
�� * 
������	�� ��� ������
 ��� ��������
	�
����
�� ������� ����� �� 
����
0�� 
����� ��	�
�� . �������� � ����
��
	 ���
�

���� ���� �� ����� ��� ���
��
�� ��� �����	���� ��	�
�� : ��� 8 ���	�
�� ���
�	�����
�� ��� ����
�� �����
��
�� �����	�
����� �� �����

����� �������
�� �� ���
�������� �����
��
� 
� ��������� 
� ��	�
�� >� ��	�
�� 7 �
�	����� ������� ����
��� ��	�
�� ? 	��	����� ��� ������ <�
� ���� ������� (<�
���
 �� ��� *++:/ �
��
���
�� ������ �� ������
 	�
����
�� 2��	�
�� *3� �
�� 
��
=	��
��� �� ��� ��
�
���
���� ��� ����
�� �����
��
� �� 	��� �
�� ���
� 
��������
�
�� ��� ��	��
0��
�� ������
2��	�
��� : ��� 83� ��� �
�� �����

���� 	����	��� ��
�� � ����
��
	 ���
� 
�����
���� ������ ���������� ��� � ���
��� �� ������� �������
�� 2��	�
�� >3�

(' )���� ! � *������� ��� ��!)� +��� � "���"

#� ��
� ��	�
��� �� �
�� � ���
�� ������
 ��=�
�
��� ��� �� ���� ������� �����
��� 	�
����
�� �� ��� ������
 ����� 
����� ������
��
	 ���
� ����
��
��� �� ��� ��
����������
�� �� ��� �������� �� ��� ������
�

4
�� 	����
����� �	�����
��� � ���� �
���

���
�� �����	�� ��� ��� 	�
�������&
� ����	����
 ��
������ ���� �	�
����� ������� ����� �� ���� ���
� �����

��
��� ��
��� 
�������� �
�� ��� �������� ��� � ������
 ��
������ ���� ����	�� ������ ���

��� ������	 
���
 ��	� �
 
�� 

 ����� �����



���	���	������� ��	�����Æ��	�
 ��
� ����	����
��� ��� �	���� �	
����� � �


��
�
���� 
�������� <�� 

������� ������
��	� 
���
	� ��� ����
� �����������
��� �����
� 	����� #� ��
� ��	�
��� �� 	���
��� ��	� �� ����� 
���
	� ��� ����	�
	�
����
�� ������� ��� ��� ������
�� ���


0��
�� ������
�& 2
3 =��
�� �� ���

��
��
� �� ����
�� ��� �	�����
�� �����
��
�, 2

3 =��
�� �� ���

�� ����
�� �����
��

��� � �
��� �	������, 2


3 =��
�� �� ���

�� �	������ ��� � �
��� 	����	�
�� �� �������

<�� �������
�� ���
����� ��� ��� ���


0��
�� ������
� 
� �� �������� 4� ����
�
��� ������ ����� ���
 � 
���
���� �
������ ������� �
������ 
� ��� ������ %��
��� ������� �� 	�
����
�� ������
�� �� ����
� ���� ��� ���� ���
�� ���� 
����
	��
������ �� ��� ��
�� <���� ��� ����� ���
 � ���� 	��� 
����� ��� ����� ��� 	����	���
�� �� ���� 
5 ��� $�	�
���� �
����	� ������� ���
 
� �� 
��� 6� <�
� �

��
��
��
����
��
�� ����� ��� ���
� 
���� 
� ���� ���� ��� 	�
����
�� ������
� ���������
4� ����� �� ����� ���� ��	���� �������� 
������� �� ������ ��	�� 2�� �������3 ���
�� ��� =��� ����
���
��� �� 
������� �� ���� ��	�� 2�� �����3� 4� ��������� ���
	�

��
	��
�� �������� �� ��� ���� �� 
������ �������
�� �� ��	� ����	� �� �
���
�� ��� �������� �
�� � ������
�
�� �
���
���
�� ��� � �
�
�� ��� ������
�
�� ���� �

������ ��������� �� ����	� � 
� ����
��� ��� �
�� ��
������ �������	
���� #� ��� ����
� ������������ �������� �� ��� �
��� �

	�

��
	��
�� �������� �
��� ��� ����	�� ��� ��� �
���� ��� ��� ���� 
� �� ������


�� � ���� �
���

���
�� �	��
� ���� 

�


0�� ��� ������ 	����
�� 
� ���
���
��
��� 
������� �
��
� � ������� ������ #� ��� 
����� �� ����
� ���� ��� ������ 	���
��
�� ���� � ������� ���� 
� �	�
����� 
� 2� @ ��3� ����� � 
� � =��� ��������
���� ��� ����
�� ��� ���
� ��� � 
� ��� ����
������ �����

��
�� ��� ��	���
�� 	����
��� � 
� ��� ��
��� �� 
������� ���� ���
�� ��� �	�
���
���

������� ���� ��� ��� � � + ��	 � � +� ��	��
 �� ����
��������� ������
�
����	����
 ���� ���� �������� � 
���� 	���� ����	 �� ������	� ���� 
��� ����� ��
���� ��� �����

	���
� 4� =��� ������
�� ��� AB��������� �� =��
�� �� ����������

�� ����
���
�	�����
�� ��
� ���� ���
�=�� � �
��� ����� ������ C�� ����� 
� �� � ����	�
�� ���

��� ��	�
�
���� ���
��� ���� 2)�<3 ������
� #� ��� )�< ������
� �� ��� �
��� �
��� �� ��
��� 
� ��� ������ ��� �� ���� � 

�

�
 ������ ������ ��	�
�
���� ����
	����	�
�� ��� ��
�
� �� ��� ��
���� � ���� 
� ��	�
�
���� 
� ����� ���� �� ��� ���� 
�
��
���� �
�� ��� D� �� E���
�� #� 
� ����� (-���� ��� F������ 6;77/ ���� )�< 
�
AB�	�
����� ���� ���� ��� �
��� ��
��� ��� ��� ���
��� ���� ��
��� ��� 	������
���
�� �
� �� � ��
��

4� ����	� )�< �� ��� ����� ������
 �� ����
�� ��� ��
�
� �� ��� ���� �
��� ���
��
� ��
��� �� ��� ��� ������ ������ ��� ��� )�< ��
��� �� ��� ����	� ������ 4� ���
��� ���Æ	 ������� �� �������� �� ��	� �

� ����� � 
������� ����
��� ��� ��� �
��� 
�
��������� �� ��	� ����	� 
������������ �
�� ������
�
�� ��	2�
�3� ����� � 
� ���
��
��� �� ������ 
 
� ��� ��
��� �� ����	��� ��� � � 6� "�� 
 � �� ������ � �����
�� ��� ����� �� ��� 
������� 1���
��� ��� �	������ 
� ��
	� 
������� ��� ������
����� 
 � � ����� ����� � 

�

�
 ���
��� ���� � 	����	�
�� ��� ����	� ����� ��
��� �
��� <�
� �	������ ���
�=�� ��� ����� 	������
�� ��� 
�	��� �� ������� ������
	��� �� �� 
��� 2�� �@ �3
	2
 � �3 ����� 
 ������ C� ��� ����� ����� 	���
��� ���
�	������ ���� ���������� ���� ����� 
������ 
� ���
����� �
��
� 
 ������ ���
��
����� 
������� �� 
 ������ ��
� �	������ ����� �� �	�
���� ����� 
� ��
� �������� �
���� 	����	�� ��� ����	� ����� �� ��� �
��, ��� ������ 	��� ���
�� ��
� 
������� 
� ��

��� ������	 
���
 ��	� �
 
�� 

 ����� �����



� � ���� ������� 	
 ��


����� ���� �� ����
�� � ��Æ	
����� �
��� ��� 
 ��Æ	
����� ������ �� 	�� ������ ����
2�� �@ �3
	2
 � �3 � ���� ��� ��� � ���� 
� ������ ���� ��� 

�

�
 ���
��� �����
<���� �� ���

�� �	������ �
�� �
��� � 

�

�
 ���
��� ���� ��� )�<� 	�
����
��
��� ���
��� ����	�
���

<�� ����� ������
 ����� �� ��� ������� �����
���� %
���� ���� 
� ��� 	�
����
��
�� 	�
���
�� �� ����������

�� �	�
���
�� �	������ 
���� � ���	 ��� �� ������G
%�� ������� ������� �� 	�� ���� ���� ��� ���	��
�� ������
 
� AB������ ��
��
� ����	�
�� ���
 ��� AB�	�
����� 

�

�
 ������	� ������ ��� ������
 (-����
��� F������ 6;7;/� ��	���� �� 	���
��� ��� ������
 �� =��
�� � ��� �� �������
���

�� ������ 
���� �� ���������� ����	���� #� ��
� 	���� �
�	� ��� �������� 	��� 
�
�����

��� ���
���� �� ��� �	�
���
�� �	������� ��� ����� ������ 	����
��
�� 	��
�� 

�


0�� 
� ������

�� �

� �� ����
�� ����� 
������ ����� � 

����� �����

��	� �������	
���� #� ��� 	���� ������������ �������� �� ��� �
��� � 	�
�


��
	��
�� �������� ��� ���� � ���� �
���

���
�� �����	�� ���� 

�


0�� 
���


�
 
������ ��������
�� ������ #� 
� ������� ����� ���� 

�


0
�� ����� 
� ��
�	���� �
������ ������� 
� AB����� ���� ��� ��� ���	
�� 	��� ����� ����� ��	�����

������� ���� �
�� ���
� ��
������ (��� ��� H���� 6;;>/� <�
� ����	�
�� 	�� ��
�������� �� ��
� �
�� �������

������� ���� ���	��
 � ������
�����	����
 ���� ���� ��������� ������� 	��
��� �� ������	�

	���
� <�� ����� 
� �� � ����	�
�� ���
 ��� .�	����
�� ������
 
� ��
���
��
������� ��
	� 
� ����� �� �� AB����� (1���� �� ��� 6;;+/� -
��� �� ������ ��
��
�
�� ����� � �� ��� .�	����
�� 
�����	�� �� 
������	� � ��� ����� �� ��
	� 	���
���
�� ��� 	��
�� �� �� ��� 	��� ���������� �� � �
����	� �� � � I ���
 ��� ������ <��
	�

��
	��
�� �������� 
������� ����� ���� �� � ����
�� � 
������ �� 
�� 	����
�� ��� ���� �� 6	.� <�� ����� ����� ��� ����� 
������ 
� .�

4� ��� ����� ���� ��� ��� 
������� 	�� �� ���
����� �
��
� � ����� �� . ��
�� 
5
� ��

�� � .�	����
��� 1������� 
� � ���� ���� � .�	����
��� ���� �� 	�� �	�
���� ���
����� �		���
�� �� ��� 	����� ��� ����
� � �	������ �� ���
�� . ���� ���
���� �����

������ �
��
� . ��
��� #� ��� ����� �
��	�
��� ��� ���
��
	 �	�
���
�� �	������
���� ���
���� ����� 
������ �
��
� . ��
�� ��		�������� �	�
����� ����� ���� ��	�
�
��
� ��� 
������� �� . ������ �� ��� 	��
	� �� ��� 
������ �
���� 
� ������� ���� ���
��� �� ��		������ �����

��
��� 
� ��� ���� ���
� �� 
���������� ���� 

���
�� ����
��� �	�
���
�� �	������ �
���� � .�	����
�� �� �� #� ���� �������� ���� ��� ������

�� =��
�� � ����
����	�����
�� ��
� ���� 

�


0�� ����� 
� AB������

�
�	� ��� ����� �� ��� ����� ������
 ����
�� ���� ���� ��� ��� �� ������ ���
���	
=�� 2������� ������� 
� ��
� 	���3� 
� ������� ���� 
� 
� ���� AB����� �� �����

��
� ���������

�� �	�
���
�� �	������ 
���� � ���	 ��� �� ������� C� ��� ����� �����
�� �� ���� 
� ��	�
�� :� � ��� �� ���������

�� ������ ��� � �
��� �	�
���
�� �	������
	�� �� ����
��� 
� ������

�� �

��

<���� ������� 
��
	��� ���� ��� ������� ������
 �� ���
��
�� �� ���

�� ����
�
���

���
�� �����	��� �
��� �� ���
����� ������ ��������� 
� 
����	������ #� ��
�
������ �� ��	�� �� ��� ���
��� �� ��� ���
�� ���	�� ��
��� ���� �� =��� ��������

�� �� 
���������	������ �	������ ��� ���� �	�
���
��� ��� ���� ���
��
�� ������ ��
������� ���

�� ������ �
��� ��
� �	�������

��� ������	 
���
 ��	� �
 
�� 

 ����� �����



���	���	������� ��	�����Æ��	�
 ��
� ����	����
��� ��� �	���� �	
����� �  

,' ��� !�� �

,'& )�	��������� ���� �����

4� ����
�
�� ��� ������� 
��� ������ 	����� ����� ��� ������ �� ��	� 	��� 
� ��� ��
���� � ���� �������� 
� � 	��� 	�� ���
	���� 	�

��
	��� �
��	��� �
�� ����� 
�
��� �� 
�� ���� ���
0����� ��� ����
	�� ��
����� 	����� <�
� 	������
�� ��� 	��� ������
� �� �� �� 
��� �	

�
8� ����� � 
� ��� �����

��
�� ����� �� � ����� #� ���	�
	��

���
� 
��������
�
�� �
�	����� 
� (-������ �� ��� *++*, 9��0 �� ��� *++., J��� ���
-��
���� *++., 1���� �� ��� *++., ������ �� ��� *++:, J��� �� ��� *++>/ 
�� �������
��� ����� 
� �� �	��� 	���� �� ������
�� � �
�������
�� ��

���
	 �
��� <�� ������
�� ��
	� ��� �	�����
�� ��� ����
�� �����
��
� 	�� ������ ���
� 
��������
�
�� 
�
�
�	����� 
� ��	�
�� .�*� �������� 	���� ��� �����
0�� 
� � ��	�
�
���� ��
�� �� 
���
�� ����
��
�� ����� ��� ���	�
��� �� ������ ����� 
� ��� ��
� ����� -
��� ��
���
����� ���� ���	�
���� ��
� 	���� 
�� �� �
��� �� ������

$�	� ���� �����

��� ��� 	��� ���� 
� ������� �� ����� �� 
�� ���
�
�� ���

����
��
	� 
� ���
��� ��
�� -B� �� �
���
����� ��	��
0��
�� ��	��
���� (���� ��� B���

������� *+++, ������ �� ��� *+++, "��������� ��� )�
 ��� *++./� <�
� �

���
����
�
��
�� �	��
� ������ �� �� �	������ 	�

��
	��
�� ����� �� ��� 	��� ������
������ ���� �� ��� ���� ������ C�� �������� ���� �	������� 	��	�������� �	�
����
	���� ���� ��� ��Æ	
����� ���	�� ����� �� ���� ��� 
������ �����

��
��� �
��
�
����� 	���� �� ��� 
�������� �
�� ��� ��������

�
���
����� ��	��
0��
�� ��	��
���� 
�� ������ 
� � ���� 
��
�� �� 
��		�����
���

��� �� 
�� ���
�
��� -
��� ��� 	��� �
0� �	

�
8� �
��� ������ ����� ���� �� 

�

��	�� �
�	� ��� ���� ��
�� 	����
=�� 
����� �� ��� 	����	� 	��� �
�� �
�� ������
�
���
"����� ��� 
��� 
��������� ��	��
0��
�� ������� ��
	� 

�	����
�� ����� 
��� ��
���
���
�� 	����� �

��� ������ 
� ����� �����
�� 
� 	�

��
	��
�� ���� ����� 	���� ���
�	�
������ <��
� �����

��
��� 
�� 
�������� �
�� ����� �����

��
��� ���� �		��
���� ���� > 	���� ����� �� �� �
�	��� 
� ��	�
�� :� ��� ���� �	������� 	��	��������
�	������ �����

��
��� ���� ��� ���	�� ����� �� 7 	���� ���� ���
�
�� 
���������	�
��� �� ��	��
0��
�� ������� H��� ��	��
0��
�� ������ ��� ����	��� �� 
�	����� 
��������
��	�� ��� ��� �5�	� �
�� �� ��	�� �� ��� ����� �
�� ��� ����� ���
�
�� ���

����� #�
��� 	����� ��� �����
��
� 	���
��� �� �������� ��� ���
� ��
�
�� �� ���
� 
���������	�
�������� 
� ��� ������	� �� ���� ����� �������

,'( ���-./����� �� �%� ����� !����

4� ���� �� ��� ����
��
�� ���� 
��� ���
�� �����

� �� �


��� ������ ��� ���
�
�
����
���
���� �


��� ���
�� 	������� 
���� )���
��
	 ���
�� 	������� 
���� ��
	�
���� ��� ������
�
�� �� ��		������ ��	��� ��	���
�� �� ��	� ��
�� ������ � �
	�
������ ����� ��� ����
��� �� -������ �� ��� 
� (-������ �� ��� *++*/� #� 
� �
����
�		����� (-������ �� ��� *++*, 9��0 �� ��� *++., J��� ��� -��
���� *++., 1����
�� ��� *++., ������ �� ��� *++:/ ���� ���
� ��������
�� 
� ����
������
	 2	����	�
�
��

� ��� ��� ��
� 
� ��� �
��	�
��� ���
 ��� ������ �� � �
��� �
����	�3 ��� ��������
����
������
	 �
����	� ��	�� 2����� �
����	� ���� ��� 
��� ������ �
�� ����
��3
��� ���

���
	�� �
���� #� ��
� ������ �� ����� ��� ���	��
�� ����
��
	 ����
��
���,

� ���
�
��� �������� �� ����
�� ��� ������
�� �����
	�
���&

����  � ������ ���� �� �� � ������� 	������� ���� ��� ���	�� !��� ���
�� �� ���
����"� 	��
����#� ������ ��������� ����� ��� ��������� ��	 ������������ ��
�� <�

��� ������	 
���
 ��	� �
 
�� 

 ����� �����



! � ���� ������� 	
 ��


����	� 
� ��
� 	���
�
�� 
� ���
�=�� ���
�� � ������� ��� �� ������ �� 	���� ���
�������� �
�� ����
�� ����� ���� 
� ����
��� ����
�� �� ��������� ���
� 
�����
� (-������ �� ��� *++*, J��� ��� -��
���� *++., 1���� �� ��� *++./� #� ���
�
��	��� ����� J��� �� ��� (J��� ��� -��
���� *++./ ���� ���� ��� ����� 
� ��
��
�� ����� ��	���� �� �
����	� ���� ��� 	�

��
	��
�� ����� ���
 ��� ������ ���
������ ��	���
�� ����� �
���� ���� ;8K� <��� ���� ������ ���� ��� ��	���
�� ����
���
��	� �
�� �

� 
� ��� ��� ��� ��	�
���� �� �� � �
����	�� -������ �� ��� (-����
��� �� ��� *++*/ ������� ������ ���� �� ����� 	�������� ���� ��� ������������ �
��
��
���� ��������
� �� ����� ��� ����������� <���� ����
�� ���� ���� ��� =���
	������
�� 
� ����
��
	 
� ��� ����
	���� 	���� �� ��������� �
	� ������

����  � ������ ���� ����� ������ �� ����� ��� ��	� ��� ��������� ����� �������	
�� �� ��
���	����� ��	�� ���� ��� ��������� �������� ��������� ����� 
��� �� �����
��� ����������� �� ���� ��������� �	$����� ����� ��	 ���� ��� ���
��� �� �����
��
���	����� ��	�� ������� ��������	 �� ��� 	��� ������ %�� ���
��� �����	 ��
	���� ����
� �� ���� ��������	���� �� ������	 �� ����
 
��	����� ������ ���� �����
���
��� ��	�� �� �	$����� ������ ��	 ���� ��
 	��
���� �� ���
 ������ <� ����	� 
�
��
� 	���
�
�� 
� ���
�=�� ���
�� � ������� ��� �� ������ �� 	���� ��� � ���
��� ��
-�% �� ����	� � �
���=���
�� ���� ��� 	��� 2���� ��� ���� 	����	��� ���
���� �
��
��� ������� ��
��� �� ��
������ 
� �� �	��� 	����3� ��� ���� � '���
�� ���
��� ��
����	� 
� ��� ������� �� �
���=���
�� ����� 
� 	����	��� �� ��� �
��� 
����� ����
��
���
�� �
����

4� ������� ��� �����
�� �� ������� ��� ����� 	���
�
��� ��� ���
�=���� �� ����
��������� �� ������
�� �� ��� �����

����� ������
� �� �
	� 6 ��� �
	� * ��������

� (1���� �� ��� *++./� 1���� �� ��� ������ ���� ��� ����� 
� ��
�� �� �
	� * 
����
�����

��
�� �� 
��
�
��
�� ����� 
� �� ������� ���
��� ���� ���� �
�� ���
����
������
�
�
�� �� ��� �
����	�� �
��
� 	�

��
	��
�� ����� 2��� ���� �
��� �
���
=���
�� ����� 
� �� �	��� 	����3� H��	�� ��
� ������� ����� �� ��
����� �� ���
��� ���� �	�����
�� �����
��
�� H������� �
	� 6 
���� �����

��
�� �� 
��
�

����� 
� �� 
����� �Æ	� ���� ����� �� ���
�
� ����� ���
��
�� 
� ��	���
�� ���� ���
��
��� ��� ��� �
����	�� ������� 
��
�� ��� ���� �	�����
�� �����
��
� ����
�����

� ��
� 	���� 4� 	���
�� ���� �� �� ��� ����
�� ���� ��� �
��� 
� ��� ������� ���
��

���
	� �
�������������� ��� 	���
������� ���
����� 4� ���� ����
�� ���� �����
��
�� � �
��� ������ �� �
���=���
�� ����� 2�� ����� ��� ��� 	���3 ���� 	�� ������
��
��	� �
�������
�� �
��� �
�� ���
� 	����������� 
� ��� ���� �� �	��� 	�����

4� ���
��� ���� ��� �����
��
� ���� �� �
�	��� 
� ��� ���� ��	�
�� 
��� ��

�������
�� 	����
���
�� ���� �
�� ���� 

��	� 
� ���	�
	�� �������� �� ���� ���
����
�� ���
 ��� 
� � ���� ������
���� C�� �����

����� ������� ���� ����
���

� � �

������ ����� �� 	�
����� ��� �����
��
� �� ����� ������	���� 4� ����
���
��� ���� ����� �
�� �� ���
�
���� �����
� 
����� ���� ���� �� ��������� �� 
���
��� �����
��
� ����� ���	�
	�� 
� � ���� ������
���� <�� ��	�� �� ��
� ����� 
� ��
��� 	��	������ 
����� ��� �����
� 
����� ��� ��� ��	�� �� ������ �����

0' 1�2 "�$ ������

<�� ������� �� ��	�
�� * 
��
	��� ���� ��� ������� ������
 �� ���
��
�� �� ���

��
���� �
���

���
�� �����	��� �
��� �� ���
����� ������ ��������� 
� 
����	������ #�
��
� ��	�
��� �� ��	�� �� ��� ���
��� �� ��� ���
�� ���	�� ��
��� ���� �� �������
��

��� ������	 
���
 ��	� �
 
�� 

 ����� �����



���	���	������� ��	�����Æ��	�
 ��
� ����	����
��� ��� �	���� �	
����� � "

Cell A Cell B 

routerleaf
8��� 5� .����	� 
	�� �� ��
	� ������	�

Cell A Cell B 

routerleaf
8��� '� !����� 
	�� �� ��
	� ������	�

� �	������ ��� ���� �	�
���
�� ���� ���
�� 
���������	�� 4� ������� � 	���� �� ���
��
	
�	�������� ��
	� ��� �

�� �� ���
�
�� 	���
�
��� �� ��� ��1 ������ #� ��	�
�� 8
�� ������� ����
�� �����	��� ���� �	�
��� ��� ���
�� ����� ��� ���	�
�� ��� ��

�������� ����
�� ��� ���� �	�����
���

-
��� � ��� �� 	���� �������� 
� � ��	�
�
���� ��
�� �� ������� � 	���� �� ���
��
	
�	�
���
�� �	������� ���� 	������� ������ �� 2
3 ���
�
�� 
���������	� �� ��� ��1
����� ��� 2

3 �����
�� ����� �� ���� �5 ���
� ���
�� �������� ���� ��� ��� ����
��
�� ��	�
�
�� 
�������� #� ����� �	�������� ��
	� �� 	��� 
��� ����	����� �����
2�
��	���3 ���� �� ��� ��	�
�
���� ��
� ���� 	����	�� ��� �� �	��� 	���� 
� �	�
�����
���
��
	���� �� �������=��� 	�

��
	��
�� 
��������� 	����� ���	�������� 
���������
�� �����
�� Æ� %�� ��� ��� �� �	��� 	���� � ��� �� ��� ���� � � � 
� �	�
�����

� ��� �������	�
�� 
�������� (�@ �
� �@ �
 @ Æ/� ��� ����� � � +� ����� � 
� ��� =���
�

� ��� ���� 
� �	�
����� ��� 
 
� ��� ���
�� �� ��� �	�������

<� �����
� ��� ����� ����
	
���� 
� 	�

��
	��
�� ����� ���
�� �� ���� �	�
�
���
��� �� ���� �� �
��
���
�� ������� ������ ����� ��� ���� ������ )����� �����
2�� �������3 ������� ��� ���� �� ����� ������ �� ���� �� ���
� ���� ������� � �
���
�


������ ���� ����� 2�� ������3 ������� ���� ���
� ��� ���� ������� � �
��� �
���� 
�� ���� ��� ���� �� � ���� �
�� �����	� �� ��� �
�� ��� ��� ���� �� � ������
�
�� �����	� �� �������� ��� ����� ����� ��� ���
���� �� ��� ����
�� �����	��� <��
�������� ���� �	������� �� ��� ����
� ��������� �� ��
	� ����� ��� ������ ���
��
	� ��� �������, ���� ��=�� �	�
���
�� �	������� �� ��� 	��� ������ ��� 
��
��	���
�����

�� ��� ����� �
�� �	������ ���
� �����

��
��� ��	� ���� ���� ���
� ����
��
������ 4� ��� ��� 
� � ���
�
�� �� ������� ��� ���� �	�
���
�� ����� ��� ���	�
�� 
�
����
� ��� ��� ���� �	�������& �

���4��� ��� B
���
���4����

���� 	�
��	
���� �� ���� �	�
���
�� � � � 	���
��� �� ��� �

� 
��������& �
����� 
������� �������� ��� ��������
�� ��	�� ���Æ	 �� ������� �� 	��� �� ��� � �������

������� �������� ��� �������
�� ���������� ���Æ	 �� ������� �� 	��� ��

���
�� ��� ��	�� 
�������� ��� ������� 
� 	��� � ���� �� ���
� ���
�� 
� ����� ��
��	�
�� �������������� ���Æ	� "��� ����� �
��
�� �� 	�

��
	��� �
�� ����� �������
���� �� ���
� ���
�� ��� �����

��
��� A��
	� ���� �� �����
	� ��� ��	��
�� �� ���

��� ������	 
���
 ��	� �
 
�� 

 ����� �����



# � ���� ������� 	
 ��


Cell A Cell B 

router

R1
R4

R2

R3

R5

South of 
router R1 

East of 
router R1 

8��� 9� .����	� 
	�� �� ��	���� ������	�

Cell A Cell B 

router

East of 
router R1 

R1

South of 
router R1 

R2

8��� (� !����� 
	�� �� ��	���� ������	�

��	�
�
�� ������� �� �� 
� 	��� ��� ������� ��� ����
�� ������ 	���� �� ��	���� 
�
�� ������ 	��� � 2��� %
���� 63� <�� 	��
	� �� ��
	� ����� �	� �� ������� 
� 	���
�� ��� ��
	� ��
�����
�� ����� �	� �� ������� 
� 
��� �� ��� ����
�� ������ C��
�������� ����
�� 
�	���
�
 
� ��	�
�� 8�. 
� ���
���� �� ���� ������ ��� ���
	����
��	���� 
� ��� ��
� 	��� 2�3 �� ���
� �������� ��� ����� ��
��� ��� ������ ��� 	��� 2��
����� 
� %
���� *3� H��	�� 
� 
��� 	����� �������������� ���Æ	 	��	���� 
�����	���
	�

��
	��
��� 1������
�� �������
�� ��1 �����	��� ���� ���� ���� 
� ���
�
��

�����	��� 	������
��� �
�	� ����� 
� ��� ��
� 	��� ��� ������� �
��
� 	�

��
	��
��
����� ��� ����� ��� ���� �		����	�� �� ��� �
���� ���

��� ������
� ��� �� ���
�

��������
�
��� �������� 
� 
� ����
��� ���� ��
� �� ��� ������� ��� ������ 
�������
��� ��� ����� 	����	���� ���� 
�	����
�� ��� 	���	� �� 	������ ��������
�� ��
�����
"�	� �� 	����	�
�
�� 
� ���� 	���
���
�� ���� ��� �
����	� �� ��� ��� ����� 
� ���
��
� 	��� 
� 
�	� �
����� ���� ��� �����

��
�� ����� 2���� � �

*� L
�

*�	
�

83�
������ �� ������� ��� �����
� 
�������� �� 	���
�� ��� ���
�� �� �
��	�
�� 
3 ���

�� �	
� 	����	�
�� ��� �� �	��� 	����� ��� 

3 ��� � �
������ ���� 	����	�
�� ���
������ <�� �
��	�
�� �� �� ���� �� � ���
 	��� � �� 	��� � 
� A����� $���� ������
�� 4���� 
� 	��� � 
� �� ��� ������ ����� ������ �� ���� �� 	��� � �����	�
����� %��

�����	�� ��� �
��	�
�� �� �� � 
� %
����� 6 �� : 
� $���� <�� �
��	�
�� �� � �
��
�� � �� ������� �� ��� �������� ���
�
�� �� ��� ��� ������ "�� �� L �� � ��
��� �� L �� � ��� ����� 2��� ��3 ��� 2��� ��3 ��� ��� 	����
����� �� �� ��� ��

�����	�
����� 4� ��=�� ��� �
��	�
�� �� ��� �
�� �� � �� �� ��&

MA����� 
� ��� � �� � ��

M������ 
� �� � �� � ���
M$���� 
� ��� � �� � ��

M4���� 
� �� � �� � ���
4� ��� ���� � �
�� ������� ��� ����� 
� �������
�� 
� 
� ��� ��� ���� �
��	�
��
2�


����� ��� ��� ����� ����� �
��	�
���3�

<�� �����
� 
������� �� �� ���� �	�
���
�� �� � 
� �������� ��� ����������������
���Æ	 ���� �� 	��� � �� ��� 	�������� �� �	
� � � �� #� 	��� � 
� ��	���� 
� ���

��� 	 ������ �� ��� �� 
��� �� �� ���� 
� 	
���	��� �� ��
���� ��
	� ��	Æ
 �� 	 ��"����� ��
	� ������	��

��� ������	 
���
 ��	� �
 
�� 

 ����� �����



���	���	������� ��	�����Æ��	�
 ��
� ����	����
��� ��� �	���� �	
����� � $

���� �� 	��� �� ������� �� 	��� � ���� �� ���
� ���
�� �� ��	�
�� ����������������
���Æ	 ���������� ���� �������
�� �
���� %�� ���
���� 
� %
���� .� 
������� 	��
�� ���� ����� ����� �������
�� �
���� ��
��� �� � ��� �� � �� ��� �� � ���
<�� ��	�
�
�� ������� 2�� ��� ��3 
��� ��� �� 
� 	��� �� <�� ���� �����
	�
��
��� �����

��
�� ������� 
� ���� ���� 
��� ���
 �������
�� �
��� �
�� ��� ��	�
�
��
��������

<�� ��� �� ����� 
������� 
� 
������ ��	����� ���
�� ��� �����
� 
������� 
�
�����

��� �� ��� ����
�� ������ C�� �������� ����
�� 
�	���
�
 
� ���
���� ��
���
	���� ����	� � �
���� �����

��
�� ������ ��	���� 
� 	��� �� ��
	� 	�

��
	����
�
�� � �
���� ��	�
�
�� ������ 
� 	��� �� <���� ���� ��� ����
�� 
�	���
�
 
�
	������ �
�� ��� ���� �	�
���
�� �	������� ��� 	�
�
��� �	��
� ������� ������� 
�

������ ��	����� ������� � �
���� ��
� �� ����� ��	���� 
� �� �	��� 	���� 2%
���� :3�

#� � ����
�� ������ ��� �� ���� 
������� �� ����� 
� ����� � ���	
�� ������
%�&��	
2A<�3 
������� ��
	� ������ ���� ������ ��� ��	�
��� ������� �� ���� �5 ���
�
���
�� �
����� ���
�� �� ��
� ���
� ��� ��� �� ��� ���	�������� 
�������� #� 	��� �
������ ��	�
��� 
������� ���
 
��� ���� ��� ����
�� ������ 
� � �
��� �
��	�
���

� 
��� ��	�
�� A<� 
������� ���
 ��� �� ���
 ������ ����
�� �5 ��� ���
�� �� ��
�
�� ���� 
� ��� �����

����� ��	�
��� ��� ��� �� A<� 
������� �5��� �
��
=	���
������ ���
��� �
�	� 
� �� ���� ��� ���� ���� 	�	�� �� 
�� ��	�� ���Æ	�

<�� 
�
� ���� �� �

���4��� ��� B
���
���4��� 
� �� �	������ ���� ����
�������
��
	��� ����� 	��	��������� 4��� ���� ����
�������
�� 	��� ����� ��� �	�
����� 	��	���
������� ��� ��	� ���� ���
	���� 
������� 	�

��
	��
�� ������� � �
���� ��
� ��
������ ������ ����� 
� ���� �
���� 
���������	� �� ��� �
������ 
��
�
� H��	�� 
� 
�
��� ��	������ �� ��	����� )<� ��� 1<� 
������� ��
�� �� ����
�� � ������� ����

������ 2�� �� A<� 
������3� � ���� 2�� A<�3 
������ 
� �

��� �������� ��
�� �19� <�� =��� ���� �� A<� 
������ ���� �� � 2��� 
�� �193 	�� �� ���� 
�
����� �� �����	����
0� ��� 	��	�� �� ��� ������ ��� ��� ��	�
��� ����� ��� ��� ����
�	�
���
�� �� ���� �� ��

#� ��� ��
�
���� �� ��� ������ �� ���� �	�
���
�� �� 
�
��� ����� �� ��� �����
�

������� �� ��� ���� �	�
���
�� ���� ��� ���������������� 	�

��
	��
�� 
� � ���	
=	
�
��	�
��� <�� ���
� �� ��� �����
� 
������� �� ��� ��	�� 
������� ������� �� ���
���Æ	 �������� �� ��� ����
	��
��� %�� 
�����	�� ��� ���Æ	 ��������� �
�� 
�������
������
�� 
���
��� ���� ������ ���	�
�� ��� ����
���
��� ��� �����
� 
������� ������
��

���� ��� ��	�� 
��������

�������	��� <�� 
���
�
�� ���
�� ���� �	������� 
� �� 	����
���� 
������ �����
����
�� 
� ������ ����� ����� ��� ���� ������� %�� 
�����	�� ���
�� ��� ���� ������
���� ����� �� ��� ���
 2�� �3 � 2� @ 6� �3 ��� �	�
����� ����
�� 
������� ����� ���
���� �
��	�
��� C�
�� �� 
���������	�� �������� �� 	����� �	������ ��� �� ��� �����
����� ��� ���� �
��	�
��� "�� I ������ ��� ���
� �� ��� 
���������	� ����� �� ���
�����

��
�� ������ � ��� �����

��
�� ����� ��� � ��� ������ �� ��� �
�� �� �
	���� � ��Æ	
��� 	���
�
�� ��� �	�
���
�� 	���� 2�� �3 ��� 2��� ��3 �� ����� ��	�
�
��

������� 
� � �
��� �
��	�
�� �
����� 
���������	� 
� ��� ������
��&

�
2�� �� � 63� @ 2� � �� � 63� � � � I � �

#� ����
	����� 
� �� 	���
��� ��� 	���� 2�� �3 ��� 2��� �3 
� ��� ��
� 	���
�� ����
���
� �	�
���
��� �� ��� 
�������� 
� � � �� � I�	� @ 6� �
�	� � � �� 
� �� 
�������

��� ������	 
���
 ��	� �
 
�� 

 ����� �����



%& � ���� ������� 	
 ��


8��� 7� �������	��

�� ����
� ���� ����� 
� ��� ��� 	���� 	�� ��	�
�� �

����������� 
� ���� ��� ���	��
����� �� �� ����� � 	���� 2� � �� � �3� ����� � L �I � �	�� @ 6� #� �� ����� ���
#$$$ ?+*�66 ����
��� �� � L *8+� ��� I L 88+	*8+� ��� ��� � �� 
�� 
��

�

����� �	

�
8� �� ����
� ���� � L >�

#� ��� �

���4��� �	������� �� �	������ �������� ����� ���� ��� � ���
�
���
������ %
���� 8 
���������� ��� �

���4��� �	������ �� � 6+ 	 6+ �������� �
��
� L *8+�� I L 88+	*8+� ����
�� � �� � ����� ��
��� �� 6++� 2
������ �� 
��

��

�
 ����� �	

�
83� �
���
�� � L 7� <�� �
���� ����� �� � ������� ���� �
���

��	��
0��
�� �� ���	����
0��
�� ������ �
�� ��� 	���� 
���������	�� <�� ����� �����
������ �� �

� 6 ��� 
� ����� ��� 86 �������	�
�� 
�������� ���
�� ��
	� ����� �����
���� 
� �	�
����� ���	��� ��	�� <�� ������
�� ���� ����� ������ �� �

� 8*� A��
	�
���� ���� ��� 	���� �� ��� ��	��� 	���
� 226� +3 ��� 26� 733 ��� ��	�
�
�� 	��	��������

� ��� ���� �
��	�
��� ��
	� ��� ���	�� ����� �� 7 ����� #� ��� ���� 
������� 2�

� 8.3
��� ������� ��
��� ���� �� ��� 	���� C��� ���� ��� ���� ��� ���������� �� ��� �
����
��� �
��� 	���
�� 2�

� 8;3 ���� 
� �� ������ 
�������� �
�� ���� 	�

��
	��
��

� ��� =��� ��� 	���
��� A��� ���� �� �

� 8; 
� ��	�
�� ����
��� �� �	������
	��	�������� ���� �����& 27� +3 � 2?� +3� 27� 73 � 2?� 73� 2+� 63 � 26� 63 ��� 2+� ?3 �
26� ?3�

<���� ��� ���
���� �� ��� &����� ��� �����
��
 ��=��� ������ �
5��
�� �� ���
����� 
� ��
	� ���� �
��	�
��� ��� �	�������� 4� ����� �� ����� �� ��� 2���� ��� 3�
2���� ���3� 2������� 3� ��� �� ������ <�� ���
���� ��� ���
	���� ���
������� ���
��� 	��
	� �� �	�����
�� ���
��� �5�	�� ��� 	��
	� �� ������� �� �
�� �� ����� 
�
��	�
�� 8�.� <�� ���
�� �� � &����� ��� ������� �� ��� �
0� �� ��� �������� $�	�
����� ����� 2� � 63 @ 2� � 63� �������	�
�� 
�������� ��� ��� ���
�� ���� ���
��
����� ��� :22� � 63 @ 2�� 63�3 
��������� <�
� 
� ��� � ���
����� ��������� ��	���� 
�
�������� ��� �
���
����� ������
��� �� ��� �����
��
 
� � ����

	 �������� 4���

��� ������	 
���
 ��	� �
 
�� 

 ����� �����



���	���	������� ��	�����Æ��	�
 ��
� ����	����
��� ��� �	���� �	
����� � %%

8��� :� ������ ������� �� -���������	�� ��
���
� �2�	��� �	�� ������
	� �
�������

8��� ;� -���������	�� �� ���
� �2�	��� �	��
������� �
�������

� ��� ���� 2
� � ��� 	���3  �
�� 2�� ������3 ��� �������� 
� �5�	�� ��� ���� ���
��
��� ��������� ��� �	�
���
�� �

�� �� ��� ��� ����� 	����� #� ���
�
��� 
� ����� ��

����
�� 
�� �	�
���
�� �	������� ��� ��� ���� 
��� ��� ���� ���� 
�� ��	��
�� 
�
��� �������� ��� ���� ��� �
0� �� ��� �������� ������� 

������� �����
�� �� ���
&����� ��� �����
��
 
� ���� 
� �������
�
0�� ��� 	���	
�� �� ��� �������� %��

�����	� ���
	� 
� %
���� 8 ���� �� �

� 6� 
� �	�
����� ���� ��� ������ ������� ���
	���� 
����
�� ��� ���
�
���� ����� ���� 	���� �� �	�
����� 	��	�������� �
�����
	���
�� ��� 
���������	��

����������	��� <�
� �����
��
 
� 
��
����� �� ��� ���� ��� �	������� ���� 	��
�� �������� 
� � �
���
����� ��� �	������ 
������ ��� ���� 
��� � ���� ��� �� ���
������� 	���	
��� 1��	��������� � ������� 	�� �� �
�
��� 
� � ��
��� �� =�����
0�
2�	�3 ����� �� �� 	���� ��	�� ��
	� �� ����� �� �� �'������ %�� ���
���� ��� �������

� %
���� > ��� ; ������� ��� ��	� ������ 	���
��� �� :; 	����� �
�	� ��� ����� �
��
�
��� ��
� ������ 
�������� �
�� ��� �������� �� 	�� ���� �	������ ��� ���� �� �
�

��

#� ��� �

����� ����
�� �� B
���
���4���� �� ��� ��� ������� �� ���� 
����
	��
�	������� ���� 
� ��	� ������� ��� �	������ �� ��� 
�	
���� ����� �� � 	��� 
� ������


��� �� 
�� �����
�� ��	��
�� 
� ��� ������ 2%
���� >3� #� �5�	�� �� ����
�
�� ���
��� ����� �� ��� ������� 
��� � 	����	�
�� �� ������� ��	����	��� ����� ��	� 
����
������� ��� 	���������
�� �� � ��� �� ����� ���� 	�� �� �

����������� �	�
�����
�
����� 
���������	�� � 
��

�� 
���������� ��� 
�	����� ��� ���� ��� =�����
0�
������� ��� ��� ��	� ����� ��� ��	���� 
� ��� ��
� ���
�
�� �
��
� ��	� ������� <��
���
�� �� ��� ��������� �	������ 
� :�� �������	�
�� 
��������� � ��Æ	
��� ��
���
�� 
�������� �� �	�
���� ��� ����� �
��
� � ������� <�
� 
���� ���� ��� �
���
���
������ ��� ����� 	��  �
� ��� ������� ��� �	������ ���
������ �
����� �5�	�
��
��� �	������� �� ��
��
�� ������ #� � ���� 
� 
� � 	��� �� �� ��
��
�� ������� 
� ��
��
��� �� 
��� ��� ���
�� 
� ����� �� 
�����	� �
�� 
�� ��
������ ��� ��	���� �����

��

�� ��	��
�� �
�� �����	� �� ���
 ��� ��������� 
�� ��	�� 	����
����� �
��
� ���
������� �� ��������
�� ��� �	������� �� 
�� 


��
��� ��
������ 
� �����

��� ���
�

� �� ��
	� 
� ������ �	������ 
����� 
� ��	� �
��	�
��� � �


��� ��	�� 
�����	�
��

��� ������	 
���
 ��	� �
 
�� 

 ����� �����



%� � ���� ������� 	
 ��


�		��� ���� � ����  �
�� ��� ������� 
�
�
��
0
�� � ��� 	��� 
� � ��� ������� 4���
� ���� ������ ��� �������� ��� �	������� �� ��� ��
�
�
�� 	���� ��� ���
� ����� ��
��� 	������

A��� ���� 
� ��� ��������	 ��� �����
��
 ��� ����� ��� �	������� 	��	��������

� ���� ���� ��� ��
� �
��	�
�� ��� �����
�� ���
�
�� �
��
� � �	� ������� <��� ���
�����
��
 �
��
=	����� ����	�� 
���������	� �� ��� ��1 ������ #� �	������� � 
���


�
 ��
��� �� ����
�������
�� ����� �� ��	� �������	�
�� 
������� ���� 
�	����
��
��� ������� 	���	
�� �
�� �����	� �� ��� &����� ��� �����
��
� #� 
� ���
�� ���
�������� 
� � �
���
����� 
������ �
�	� ��	�� 	����
���
�� ��Æ	�� ��� �	�����
�� �
��� ����� %
������ 
� 
� �	������ ��	���� ��� ���� �	������� ��� ��� �5�	��� �� ���
�
0� �� ��� ��������

� 
��
=�� ����
�� �� ��� ��������	 ��� �����
��
 ���� ��� ��=�� 
����
	��
�	������� ��� ��	� ������� ��� �	������� ��
���� �� � ���
�
��� �
�� �����	� �� ���
�	������� �� ��� ���� ��
����� ������� 2�� ����� 
� %
���� 73� ���� ���	
=	�����
��� ���� ���� �� � ������ 
� ��
���� � ���
�
��� 2�������	�
�� 
��������3 ����
�� ����
��� ���� ���� �� ��� ���� ��
����� ������� ��� ����� ���� 
� ��
���� � ���
�
���
����
�� ���� ��� ����� ���� �� ��� ����� ��
����� ������ ��	� <�� ���� ����� 
�
� �
��� 2������3 ������ ���	���� �� ��
��
�� ��� ���� �� ��� �
��� ��� 
��
�� ��
��� ��� ����� ���� ��� ���
�� ��� �� ��� ������ 
� ���������� A��
	� ���� �� ���
�

� �� ���
�� ��� 
� ��������� 
� � �
��� ������� ��� �����	�
�� ��� �� ��� �
���
��
����� ������  ��� ������ ��
�� ���������� <�� ��� �
���
��� �����
��
 ��	������
��� ����� �� 
������ ���
���� �� ��� ������ �������
��, ��
� �
�� ��	�
� ��
����
���� �� ���	�
�� 	���������	 ����
�� 
� ��	�
�� 8�.� <�� ������ ���� ��� �����
������ ��� �	������� 
� � �


��� 
������ <�
� 

������ ��������	 ��� 
� ���
�	������ ��������� 
� ��� �����

���� 
� ��	�
�� >�

������� ������� ����
���� 
� ��������	 ��� 
� ��� ��
��� �� �������	�
�� 
��
������� ��� ��	� �
��	�
�� 2�����3 ������ ��� ���� ��
�	��� �� ������� �
��	�
���
C�� �����

���� ���� ���� ��
� ����
����� �������� �� �� ����� ��� �� ���
	�����


��	� �� ��� ������
��	� �� ��� ���� �	������ 2��	�
�� >3�

����������	
���� 4� ��
�'� �
�	��� ��� ���	����
0��
�� ����
��
���� 

�����
�� ���� �	�������& 
3 ��
�����
�� ����� 
��� ���� ��� ��
� ���
�� �� �

� �������

�� ���
� 	�

��
	��
�� ���� ��� 

3 ����� 
� ��� ����� ��
��������� 
��� �� ����
���	����
0�� �� ���� ���� ����� �� ����� � ���
�
��� ���� ��� �	������� �

�����
�������� �
�	� �����	� �

� ���	����
0��
�� 
� ���� �� �	�
���� �� ����� ��� 
�
�
��
����
��
���� ��� ������� � �������������� ����
�� �� ���� �	�������� #� ��� ��
�� ���
����� ��� ��
����� 	��	�� ���� ��� ��	��� �� ����� ���� ��� � ���
�
��� ���� ���

��	� ����� ��� ���	����
0�� �
��
� ��� #� ����� ���� �	�
���
��� �� �	������ ���
��	�
��� �� ���� �� ��� ���
� � �

� ��
�� ����
�� ���� ��� �	������� �

� �		���
��
�� 
�� ��	�� 	��	�� #� ����� �� ������ ���� ����� 
� ��
�� �� �� �� 
���������	� ���
�� ��� 	��	� ������� �� 	�� 
�	����� ��� �
����	� ������� ��� ����
�������
�� ����
�	�
���
��� 2���� ���
 7 �� ?3� )�	����� �������� ���	����
0��
�� �����	��� ���
������ �������� 2����� )%� (4����������� �� ��� *++8/� )�� ($���� �� ��� *++*/ ���
<B�A (-����
��� �� ��� *++./3 ����
�� �
��� ���	����
0��
�� ������ 2
� ��� ����� ��
 �!"�3 ��� ���
�
� ���� 
���
���� �����
��� <��
� ������
��	� ������� 
� �����
�� ��	�� ��� ���� ����� ��������, 
� ��
� 	��� �� ����
� ���� � ��� -B�����
����
����� �
�� ��������� ��� ���	����
0��
�� ���� ��� ���
� ��	�� ���
����

��� ������	 
���
 ��	� �
 
�� 

 ����� �����



���	���	������� ��	�����Æ��	�
 ��
� ����	����
��� ��� �	���� �	
����� � %�

3' �������

#� ��
� ��	�
��� �� �
�	��� ��� �� 
�������� ����
�� �����	��� �
�� � ���� �	����
���� 4��� �	������� ��� ��������������� <��������� ��1 �����	��� ���� 	��
�� 	�
�
��� �
�� ���
����� ����
�� �����	��� ���� ��� ��
	��� 	�

��
	��
��� ��
���
����� ����
�� �����	��� �������� 
�� ��� ����� �����
� ��� 	���
�
�� ���
���	�
�������
�� �� ���� �	�������� 4� =��� 
����
�� ��� ������
�� 	����� �� 
���������	��
��� ������� ��� �������
�� ���� � ����
�� �����
��
 
��� ���� 
� ����� �� 

�


0�
��� ������
�
�� �� 	���
�
����

3'& ��-���� ��	 1��� "
%��-����

� ���� �	������ ��=��� � ���
��
	 �	������ �� �	�
���
�� ����� ������� ��� �� �	���
	����� � ����
�� �����	�� �����

��� ��� ������ 
� ��
	� 
������� ��� ���������
�� � �
��� <� 	�
�
�� ����
�� ��� �	�����
��� �� ���� �� ���	
�� ��� �� �	������
� 6���� 
������ �����

��
�� ���
 ���� ���� �� ����� A��� ���� ���� 	���� ��
�
���� � ���� �� � ������� ������� ���� 
� ������ � ������ 2�
�� �����	� �� ��� �
��
����� ��� 
������ 
� ����
���3� 4� =��� 
����
�� ��� 	��� # 
� ��
	� ���� 
� ��	�����
"�� #� � #	 � #
 ��� #� �� ��� 	���� �� �	��� �� # 
� ��� ������ ����� ����� ���
���� �
��	�
��� �����	�
�����

M#� ���� 
� � ����� ��� �����

��
�� 
� �	������� 
� ��� =��� ���
����� ��	�� 
�������
�� ��� �� ��� ���� ���� �	�
���
���& # � #� � # � #	 � # � #
 �� # � #� �

M#� ���� 
� � ������� ��� �	�����
�� �� ��� 
������ �����

��
�� ������� �� ���
�
��	�
�� �� ���� �
�� �����	� �� ���� � #� ���� 
� ��	���� 
� ��� ���� �� ����� ���
�����

��
�� 
� �	������� 
� ��� =��� ���
����� �����
� 
������� �� ���� #� � #�
A��� ���� ���� 
� ��� ��	�����
�� ��	���� 
� 	��� #� 2���� ������� ��� ��	��
�� ��
������ �� 
� %
���� .3� �


��� ����� ���� ��� ��� ��
�
�
�� ����� �
��	�
����

<�
� 
���� ���� ��� ���� �����
��
� ��� ���
���� �� �	������ ��� ��
	��� ������


��
�� ����	��� �� ��� ����
�� �����	��� ���������� �� ��� ������� ����
�� �� ���

��������
�
�� �� ��� ���
� 
���� 2���� ���

���
	�� �
���� ����
������
	 �
����	�
��	��� ����
������
	 	����	�
�
��3� <�� �����
�� 
� ������� ��� ����� ���� 	���
�
�
��� ������	������� �����

��
��� ��� 	���
�
��������

3'( 1%�� �	� 1���4�
%��-��� �	���.������� ���������4*	��5

1�
�
�
�� �� ���
����� ����
�� �����	�� �
�� � ���� �	������ ���� ��� ��	�����
��
��������� 	���
�
������� 
������ �����

��
���� #� ����� �� 

�


0� ��� ������
�
��
�� 	���
�
��� � ����
�� �����	�� ����� �� ���
��� ��� ������
�� �������
��&

M������
� �� #� ��	�� 
��������� ��� 	���
�
�� �� ���
� 
���������	� ���
�� ��	��

�������� 
� �� ���� ��� ���� ��	�� �� � ���� ���	 ����� ����� 	��� �� � ���
�� ������
��	� ������	 �� ��� ���� ����� �� ����� 
� %
���� *� <�
� 	���
�
�� 
� ���
�=��
����� ��� ����
��
�� 2�63 �� ��	�
�� .�* �
�	� ����� �
��
� ��	� 	��� �
�� ��
���� �� ������� ��� 
��
�
 ��� �����

� �
����� 
���������	� ���
�� ��� ��	��

�������� �� ��� �����

M������
� �� #� �����
� 
��������� ��� 	���
�
�� �� ���
� 
���������	� 
� �� ���� �
���
�� ���� �� ������ ��	�� ������������
 ���������� ���Æ� ��� �	
� ����������� ��
����� 
� %
���� :� <�
� 	���
�
�� ����� ����� ��� ����
��
�� 2�*3 �� ��	�
�� .�*
����� ��� 	����	�
�
�� �� �
���=���
�� ����� �	���� 	�����

��� ������	 
���
 ��	� �
 
�� 

 ����� �����



%� � ���� ������� 	
 ��


#� ��� �����

��
��� ����	��� �� � ����
�� �����	�� ���
��� ��� �����
���
����
�������
�� 
� 
��� 	����� �� ��� ���� ��� ����
�� �����	�� ���
�
�� � 
���������	��
�����
��� #� ��� ���� ��	�
��� �� ������� � ����
�� �����	�� ���� 
� ����	
����
���
���� �� ���
�
� �������
����� �����
�� 
� �������
�� ���� ���
 ����	� ������
����� �� � ��� ������� ������

3', ��-���� /	���
��

<�� ����
�� �����	�� ���� �� ������� 
� ��
� ��	�
�� 
� ���
���� �� �����
� ��� ���
����
�� �� ���� �	������� �� ����	� 
���������	�� ��
��� ��
�
�
�� ������ �� 
������
���
�
�� �� ��� ���
� 
���� 2��
�������� ���

����� ����
������
	 �
����	� ��	��3�
<�� ��
���
�
�� �� ���
��� ������ �� ���� �	������� ������� �� ��� 
�����
�� �� ���
�

��������
�
��� #� �� 
���� ���
� 
����� ��� 	�
�
��� ����
�� ��� �	�����
�� ������
	��� ��


���� 
���������	� �� ��� ��1 ������ ������� ���
� ������
��	� ��������
���	������ �� �� 
��� �� 
��� ������� ���
� ��������
�� 	���
�
����
�
�� �� ���
�	� ���
�� �����
���� � ���� 
�
�
���� 
����
=�� �� ��
������ ���

����� �
�� ��
	� 
� 	�� ������
�� ���
���� ��

���
	 	�

��
	��
�� �
���� $�	�
���� �����	���� 
�� ��	��
�� ��� ���
���� ������ �� 
�� ��
������� <�� ���� ���� ���
��� ������� ���
���� ������ �
����� ��� ��
������ ��	���� 
� ��� ��
� 	��� ����
��
��� ���� �� � ������ ��� ����� �
��� $���� ����� ���� ����
�� ��� ���� �� � ���� ���
����� �
��� <�� ��� �� ������� ����	��� 
� ��
� ���� 
� ��� =���� �
�	� 
��� �������

�� �� ����� 
� ���� .� <�� 
�
�
�� ���� �� ������ ���	�
�� 
� �


��� �� ��� ������
���	�
�� 
�	���
�
 
� -�% (D� �� ��� *++6/� A��� ���� ���
� 
��������
�
�� 
��
������ 
� ���	�
�� 
��� ���� ��� ������� ��� 	���� ��	� 	���� ��� ���� 	���
���
��
���� ��� 
��

�
 �
����	� �� ��� ����� 
� ��� ��
� 	��� 
� 
�	� �
����� ���� ���
���
� �����

��
�� ������
�
�� �� �	
� �����
���� %����
�� �� ����
�� 
������� 
� 
�
�
���� �� ��	� �
��

�� 
� ����� �� ������
�� ����� ���
 ����	� ����� �� �� 1���
��� � ���� � � �� �
� � � � �� � � ���� 	����	�� � ���� � �� �
�� �� C�� �� ��� ���
�� ����� �� �
����
�� �����
��
 2�
�	����� 
� ��	�
�� 83 
� ���� ����� �
�� �� � ���� 	����	�
��
��� ������� 
��� 	���� ���� ��� 	��� ��������� ��
	� 

��
�� ���� �� ��� ���� ���
��	���� 
� �� �	��� 	����� 4� ����� �� ��	� �
��� �� ��
���� �
���� ��� ��
�
�
��
�
���� ���� �
��� 	����	�
�� ��� ������� 
� ������ �	��� 	����� �� �
��� 	����	�
�� �
���� ��� � ������ ��� �������� �� �� ����
���� �
����

<�� =��� ���� �� '���
�� ����
�� 
������� 
� �� 
����
�� ����� �
�� � 

�

�

��
��� �� 
�������� �
��� ���
 ����	� ����� �� �
���� $�	� ���� ������ ��	���� ���
��
��� �� 
�������� �
��� �� ��	� �
�� 
�
�
���� ��� �� 
�=�
��� � ����
�� 
������
��
�
����� �� � �
�� 
�	����� ��� �
�� 
����
=�� � ��� ��� ��
��� �� 
�������� �
���
$� �� ��� �
��� 
�
�
���� ��� �� +� 4��� � ���� � ��	�
��� � ����
�� 
������
���
 � ��
����� � �� 
� 
�	��
���� ��� ��
��� �� 
�������� �
��� 
� ��� 
������
2$� L $� @ 63 
5 � ��� � � ���
 �� 
�������� �
��� <��� 
� 	�
����� ��� ��� $�
�
�� ��� ��	���� ������ ��
��� �� 
�������� �
��� ��� �
�� �� ������� �� %�� $��

263 #� $� � %�� $�� ���� ��� ����
�� 
������ 
� �
�	����� �
�	� 
� �5��� � ����
���
 ���� � �� �
�� � �
�� 
��� 
�������� �
��� ���� ��� ���� ���� ����� ��
����

2*3 #� $� � %�� $�� ���� ��� 
����
��
�� 
� ��� ����
�� 
������ 
� ������� �� ���
���������� ����
�� ���
�� ���
 ���� � �� �
�� �� �� ����
�� %�� $� &L $��

��� ������	 
���
 ��	� �
 
�� 

 ����� �����



���	���	������� ��	�����Æ��	�
 ��
� ����	����
��� ��� �	���� �	
����� � % 

<�
� 
���� ����� ������ ������ ����
�� 
����
��
�� 
� ��	�
���� � �
�� ����	�
��
����� � � �� ������� ��� 
������� ����
��� �� �
�� ��

2.3 #� $� L %�� $�� ���� ��� ��	
�
�� ������� �� ��� ����
�� 
���
	 ���� ��
�������� ��� �Æ	
��	� �� � ����
�� �����
��
� 4� 	���
��� ��� 
���
	�� ��
���
��	� ����
� ����������� ��� �����
� �����
����� 	���� � ������� �������� ��
�� ��� 

�

�
 ������ ��� ��� 

�

�
 ����� 
���
	� #� ���� �������� ��
�
�	��� ��� 

��	� �� ��	� 
���
	 �� ����� ����	�
���

#� ����� �� �����
� ��� ��� ������ ��� ����� 
���
	� ��� ����� �� 
������	� � ���

��� =���� 
�	����� 
� ����
�� 
�������� ���
��� ��� ��
��� �� 
�������� �
���� �
����
�� 
������ �����	��� �� ���� � � 
�	����� 
3 ��� ��
��� �� ������� �
��� 2��3
���
 � � �� �
�� �� ��� 

3 ���� ������������� =���� 2&���
�� &	��
� &
��
�� &���
3�
<�� ������ �� ��� ������������� =���� �������� ������ �� ��� ���� �	������� <��
=��� &���
� ������ ��� ����� ������� ��� �

� ���� � � ��	�
��� � 
������ �� �
��������
�� �
�� 2
��� ���
 � ��
����� ��	���� 
� ��� ����� �� � �3 ��� ��� �

� ����
��� 
������ 
� ���
����� �� ��� �
���

C� ��	�
�
�� � ����
�� 
������ ���
 ��
����� � �� ���� � 
�	��
���� ��� ��
���
�� ������� �
��� 2�� &L �� @ 63 
5 � ��� � � ���
 � ������� �
��� A��� � ����
������� ��� ������������� =���� �� ��'�	� ��� ������ �� 
������ ��������
�� ���
 �
�� �
�� �� %�� ���
���� 
� � ���� �� ������� � 
������ ������� ���� � �� ��� ����
� � 
� 
� ��� ���� �
��	�
�� �� � � ��� ����� =���� �� ��� 
������ ����� �� �������
�� �������&

M&���
� &L �'�����&!('�2���)��*�� �� �'��3 @&	��


M&	��
 &L �'�����&!('�2���'���� �� �'��3 @&	��


M&
��
� &L �'�����&!('�2���)+�*�� �� �'��3 @&	��


M&���
 &L �'�����&!('�2���!���� �� �'��3 @&	��


����� �'�����&!('�2�� ����� �
�� ����3 ������� ��� �

� ���� � 
������ ��
�� 
�

��� ����� �� ���� � ���
 ��� �

� ���� 
� 
� ��	�
��� �� � 
� ��� �
��	�
�� ���� ��
��� �

� ���� 
� 
� ���� ���
 � �� � � 
� �
��	�
�� �����

4� ��� 	���
��� ��� ��� ������� =���� �� ��� ����
�� 
������ 

��	� ��� ���
���
�� �� ��� ����
�� �����
��
� #� ��� ������ 
���
	 
� ����� ��� 	������ ���� �
������ ��� 
������ ����
�� 
����
��
��� ���� 
� 
� �5��� � �
����� ��
��� �� �������
�
��� ���� ��� ���� ����� ����� �� ���� #� ��� ����� 
���
	 
� ����� ��� 	������ ����
� ��
�� �� 

�


0� ��� ����� ����� ���
 ��� �

� ���� 
� ��	�
��� � 
������ ���
 �
	����
� �
��	�
�� �� ��� �

� ���� ��� 
������ 
� ���
����� �� ��� �
��� A��� � 	�
�
����� ��� ������� ����� =���� �� ��� 
������ 2&���
�� &	��
� &
��
� ��� &���
3
�
�� ��� ���������� ����
�� ������ ����� �� ���� ��
	� ��� ���
��� ���
 ����
���

�������� 4� ������ ��� ������ �� %�� &!(���
�� %�� &!(	��
� %�� &!(
��
��
%�� &!(���
� #� &���
� � %�� &!(���
�� ���� ���� � �
�� ����� ��� �������

������ 
����
��
�� ����
�� %�� &!(���
� &L &���
�, ��
� 
���� ���� ��� ����
�
�� ������� ��� 
������� ��	�
��� 
� ��� ����� �
��	�
�� �� ���� � �� ����	�
�� ��


�


0� ��� ����� ��������
�� ������ � �
5����� ��	
�
�� 
�� �� 
��� ��� 
���
����� ��	�
��� �� � 
� ������� �
��	�
��� ���� 
� %�� &!(
��
� � &
��
�� ���� �
���� ��� ����	� � � �� ������� 
������� ���� 
� ��	�
��� 
� ��� ����� �
��	�
���
�
��  � !��	� ���
�� �����
���� 4��� ��� ����� �����
��
 	��������� ��
�

�� ��� ����� ���� ���� ���	��� �� �� ������ 
� ���� 6� ��� �������� �� �������� #�

��� ������	 
���
 ��	� �
 
�� 

 ����� �����



%! � ���� ������� 	
 ��


����
	����� 
� � ���� ���� � 
� ��� �� ��	�
�� 
������� ���
 � ��
����� ���� 
� �����
�� ������� ���
 ���������� �� �
�� �� ���� ��� ���� � ��	�
�� � ������ �
��
�����	� �� �
�� �� )�	��� ���� � ���� 
�� �� � ���� ��� ���Æ	 ����
��� �� ��� �
��
��� � ������ ��� ���Æ	 ����
��� �� ������� �
��� <�
� 
���� ���� 
� �
�� ���������

������� 	��	���
�� ��� =��� �
�� ���
�� ��	�� 
��������� ��� 
������� 	��	���
��
��� ��	��� �
�� ���
�� �����
� 
�������� �� ��� ���� �	�������

6'  +) ��! ����  2��������

4� 

���
����� � ��������� �� ���� �	�����
�� 
� ��� A��* A������ �

������
(������� �� ��� *+++/ ��� 	�
����� 
�� ������
��	� �
�� ����� ������	���� #�
��	�
�� >�6� �� ���� ��� �����
��� �� ���� �	������� ����� �
5����� ����
�� 
���
	��
�� ���� �� ����
�� ��� ��
��� �� �
���� �
��� 	����� ����� ��� �
��� 
� ��� ��������
4� ���� 	�
���� �
5����� 
���������� ���� �	������� �� ����
�� ��� ��
��� ��
������ ��	�
�� >�* �������� ��� ������
��	� �� ��� 	�
���
�� ���������� �	�����
��
������	��� ��� ��	�
�� >�. ����� ��� �����
�� �� #$$$ ?+*�66 �
�� ���
��� ����
	�	���� � 	�
���
��� �� ���� �	������� �
�� ��� ����� ������	��� 
� ��������� 
�
��	�
�� >�:� %
������ 
� ��	�
�� >�8� �� �������� ��� ������
��	� �� ���� �	�������
��
�� ���� ��������� 
�	���
�� ��������� �
�� ������� ���Æ	�

6'& 1��� "
%��-����

4� �

����� � ������� �� 6+ �� 6+ ��
� 	���� �� �
0� 6++�� ��	�� <�� ���
� ��

���������	� �� 	�

��
	��
�� ����� 
� 88+	*8+ ��� ��� ���
�� ������� ���
� 
����
��	�
�� ��� �����

� ����� ��� 6&6�*&6�>� 4������ 
� ��� ����
��� ���� (<�
���

�� ��� *++:/� �� ���� ��� ������� ������ ��'�	�
�� 
����� ��
	� ���������� 	�

��
�
	��
�� ����� �� �� 
���� 	
�	��� �� ��� ��� ��� ������
�� 
����� 
� ��
	� �����
	�� ���� ������
�
��
	���� 	�

��
	��� ���� ���� ��� ���� �� ��� 	�

��
	��
��
����� ��� �� ���
�� �5�	��� A���� 
�
�
���� ��	����� ��������� 
�������� ��� ��	�
���� ����	�� �� 
�� ��
������ ��� ����� �
�� ��
	� 
� 	�� ������
�� � ���
���� ��
�

���
	 �
�� �
�� ���� �
�� ������
�
�� 2� ;?K3�

#� ��� ���� �	�������� ����� ���� �	�
���
�� ������� ��� 	����	��
�� 	���� �����
��� *++
�� � ���� 	�� ���� ����� 6+ ��	���� ���
�� �� ���� �	�
���
�� �
���
� �
�� �����
��� �� *+����� <�� ��	�
��� ����� �� .+
� ������ ��� ������ ��
���
� 
������ ���� ���� 	��	�� ��� ��� �	� �� �
��� ��
���� <�� �
0� �� � ������

� � �
���
��� ���� 
� ��� �� ? �� ? ��
� 	���� 2
������ �� 7 �� 73 
� ����� ��
���
� 
���������	� �� � ������ �� �
��� ��	��
0��
�� �� ���	����
0��
�� ������� <��
����
���� ������ �� ��� �����

����� ����� ��� ��

��
0�� 
� <���� ?�
���
�	� ���� ��	�����
 	�� 
�	Æ� "��#��	�� $����

���� ��� ��� 6+++ ��	�
���� ��� ��� ���Æ	 �������� ���
�� ���
 + �� *+++ 
�������� 4� �
���
���� .8+
������ ����� 
� ��� ������� ���� ��
���
�� �� �����
� #� �����

���� �
�� �
���
	����� �� =��� �����
�� ����	� � ��� �� �
��� 	����� ��� ���� �� �
���
���� �����

� ��� ��
�
�
�� ������� ����� #� ��� 
�
�
�� �����

���� �� ���� ��� �����
�� ��
���� �	������� ��
�� �����
 ���������� <��� 
�� �� ����	� ��
���
�� �� �����

63 ��� �
��� ���� ��� ��� �� ������ ������ *3 ��� �

� ���� � 
������ 
� ���������
���� ��� �

����
�� ���
��� .3 ��� ���� ����� � 
������ 
� ��������� ���� ��� ���
�� ������ ������ ��� :3 ��� =��� 
������ ����
���
�� ���� ��� ��� �� �
�� ������
#� ��	�
�� >�8� �� ���� ���� ��� �����
��
� �
�� ���Æ	 ��������� ���
��� ���
 ����
���������

��� ������	 
���
 ��	� �
 
�� 

 ����� �����



���	���	������� ��	�����Æ��	�
 ��
� ����	����
��� ��� �	���� �	
����� � %"

�	�	����� �	���


���� �	��� '73 ������
������� �	��� 773 ������

��� ����� 533 ������
���� ���� <53 
� 53= 
����
�2�	�� ���� <> 
� >= 
����

����&�
�&��	�� ����� 5&5�'&5�:
����1�
� ������	� '33 ��
�������� ���	���� 5333 ��
�


	������� '3�
��

8��� >� ����������	� �����

 0

 20

 40

 60

 80

 100

 0  2  4  6  8  10  12  14  16

de
la

y 
(s

ec
s)

 

empty cells

Average Message Delay Evaluated From Routing Tables 

PipelinedWaveEnergy
PipelinedWaveDelay

8��� ?� %��	� ��� ������ �������

 0

 50

 100

 150

 200

 250

 300

 350

 400

 0  500  1000  1500  2000

de
la

y 
(s

ec
s)

Messages

Average Message Delay

PipelinedWaveDelay_sinks1
PipelinedWaveDelay_sinks3
PipelinedWaveDelay_sinks5

PipelinedWaveDelay_sinks10
PipelinedWaveDelay_sinks20

8��� 53� �"�
� �� ����� �� ���	�

 0

 1

 2

 3

 4

 5

 6

 7

 0  500  1000  1500  2000

en
er

gy
 (

Jo
ul

es
)

Messages

Average Energy Consumption

PipelinedWaveDelay_sinks1
PipelinedWaveDelay_sinks3
PipelinedWaveDelay_sinks5

PipelinedWaveDelay_sinks10
PipelinedWaveDelay_sinks20

8��� 55� �"�
� �� ����� �� ������

������$ ��� ���	�$%	��� ���
���� 4� =��� 	�
���� ��� �����
�� �� ��� B
���
����
4��� �	������ ����� ��� ���� ����
�� 
���
	�& 

�

�
 ������ ��� 

�

�
 ���
���� )�	��� ���
 ��	�
��� : ��� 8 ���� ��� �� ��� �	�����
�� �� ��� ������ ��� ����
�
�� 

�

�
 ����� 
� ��� ��	�����
�� ��� ���� �� 

�

�
 ��� 	����� %
���� ;
����� ��� ������� ���� ����� ����� �
��� ���� ��� ��� ��� 
���
	�� 
��� 
� ����� ���
�

� ������� �������
�� �� � 
������ �� 
�� ����	� ��� ���
���� �� ��� 
������ ��

�� ����
���
��� <�
� ����� 
� 	�
����� �� ���
�
�� 
����
��
�� ���
 ��� ����
��
������ �� ��� ������ #� 	�
�	
��� �
�� ��� ���� 
������ ��������
�� ����� ���� ���
���Æ	 
� ��� ��� ����� 	�� 	�
������� ���
� ���
� ��5�� ���
�� �� ���� �	�
���
�
��� <�� 

�

�
 ������ ����
�� 
���
	 ��=��� ����� �
�� �
���� ����� ���� ���


�

�
 ����� 
���
	� <�� ��� 
�
�
���� 
�	������ �� �� 
�	����� ��� ��
��� ��
�
��� 	����� ��	���� ��� ����� ����	��� �
�� ��� 

�

�
 ������ 
���
	 ���� ����
������� ����� ��� ���� 
��� �
���������� ����� �� �� ������ �
��� 	����� �� ��

�	����� ��� ��
��� �� �
��� 	���� �������� ��� ��� ����
�� 
�	���
�
� 	�������,
��� ������ 
� ���� ���� 
��� ��� ��
� ����
�� ��	
�
��� ��� �� ��� �


��� �����
�� ����
�� ���
��� ���
 ����	�� �� �
���� <�� ������ �������� �� ��� 

�

�

����� 
���
	 ��� �������� �� �� ����
�
���� #� ��� ��
�
���� �� ��� ��	�
��� �� ���


�

�
 ����� �� ��� ������� ����
�� 
���
	�
��	�	%���
� "�
� 
�� ���%�� �& ���#�� C�� ��	��� �����

��� ����� ��� ��
	����
�
�� �� ��� �	��
� �
�� �����	� �� ��� ��
��� �� �
���� %
���� 6+ ����� ���
������� �������� 
������ ������ ��
	� 	������� �����
�� ����� ��� �� ���Æ	� 4�

��� ������	 
���
 ��	� �
 
�� 

 ����� �����



%# � ���� ������� 	
 ��


 0

 50

 100

 150

 200

 250

 0  500  1000  1500  2000

de
la

y 
(s

ec
s)

Messages

Average Message Delay

PipelinedWaveDelay_holes0
PipelinedWaveDelay_holes5

PipelinedWaveDelay_holes10
PipelinedWaveDelay_holes15

8��� 5'� �"�
� �� ����� �� ���	�

 0

 1

 2

 3

 4

 5

 6

 7

 0  500  1000  1500  2000

en
er

gy
 (

Jo
ul

es
)

Messages

Average Energy Consumption

PipelinedWaveDelay_holes0
PipelinedWaveDelay_holes5

PipelinedWaveDelay_holes10
PipelinedWaveDelay_holes15

8��� 59� �"�
� �� ����� �� ������

��� ��� ��
��� �� �
��� 	���� �� �� +� 4
�� 
��� �
���� ��� ���� 
� ������ �����	��
�	���� ��� �������� ��� ������� 
������ ��������
�� ����� 
� �
����� ��� ��� �����
��� 	���	
�� �� ��� ������� 
�	������� 4
�� 
��� ���� 8+ 
������� ��� � �
���� �
��
��� ������� 
� ����������� ��� ��� ������ 
� ��� ������� ����� �� ����� ��� ����
����� 	���
��� �� ���� �
����� ������ 
� �� ����� ��� ���� �


��� ��� ������ ��
��� �����

��� �� 6+++ ��	����� %
���� 66 ����� ���� ��� ������ ����� �� ��� ����
���� ��� 
�	����� �
�� ��� ��
��� �� �
���� ��� � �
��� ��
��� �� 
�������� <��
������ �
�� 6 �
�� 
� ���� ���
	����� �
����� ��	���� ��� ������� 
� ���������� ���

��� 
������� ���� 
� ������ 
������ �� ��
�� ����������� <�
� 	��=�
� ��� �
	�
�����
�� �� ���� ����
�� ��
	� 
���� 
� ��	���
������ ��
����� ��� ������ ��������
�
�� 
���
��� �
����
�'��
 �& ���
� ������ 4� ��� ���

�� ��� 

��	� �� �
��� 	���� 2�� �����3 ��
��� ������
��	� �� ���� �	�������� <�� ��
��� �� �
��� 
� 6+ ��� � �����
��
����	��� ��� �� + �� 68 	���� 2��� �� 6++ 	����3 ��� ��� �� �� �
��� �� ������ <�� .8+
����� ��� �
���
����� ��
���
�� �� �����
 
� ��� ��
�
�
�� �����
��� 	����� %
����
6* ����� ���� ��� 
������ ����� 
�	������ �
�� ��� ��
��� �� �����& 
������� ��
�
������ 
� ����� �� 
��� � ���� �� ������ � ����� <�� 	���	
�� �� ��� ������� 
�
���� 8++ 
������� �
�� 68 ����� 2��� 
������ ����� 
�	������ 	���
������� �����
���� ��
��3� ������� 
� �
��� �� 
��� ���� 6+++ ��� �������� �
����� ������ <��
������� ������ 	����
��
�� ��� ���� 
� ��� 

��	��� �
��
=	����� �� ��� ��
���
�� �
��� 	����� �� ����� 
� %
���� 6.� <�
� 
� ��� �� ��� 	������������	
�� �5�	��,
�� �� 
�	����� ��� ��
��� �� ����� 
3 ����� 
������� ��� ���
����� ��� �

� ��
��
���� ��	����
�� ��� ������� ������ 	����
��
�� ��� ����� ��� 

3 
������� ������
������ ����� �� ��� �� ��� �
���� ���� 
�	����
�� ��� ������� ������ 	����
��
��
��� �����
�'��
 �& 	�����
��� �� ���$����	%�� ���#��� #� ��� �� ��� �����

���� ��
��� ��� ������
�� ���
� ��������
�� 
����� ��
	� �

�� ��� ��
� �
�� ����� ���
��
��
��� ��� 
������ ����
�� ���� ��� ����� �
��
� 	�

��
	��
�� ����� 	��
	�

��
	��� �
�� � 	����
� ������
�
��� <�� ������
�� 
���� ��������� ��� 
���
��	�
�� ����� �� ��� ���
� �
���� �� �
����	� �� ��� 
�� ���
��	�� ��� ���� ���
 ��

���� ���
� ��������
��� �������� ��
� 
� � 
��� ����
��
	 
���� ���� ��� �����
���	� 
���� ��� ��� ������� 
����� �� ���� ������ ��� �����
��
� 
� 
��� �������
������� 	���
�
��� �
�� � �
��
=	��� ���	������ �� ��������
�� ��� ���

���
	
�
���� #� %
����� 6: ��� 68� �� ���� ��� �5�	� �� �
����
�� �� �� ?+K �� �
��� ��

��� ������	 
���
 ��	� �
 
�� 

 ����� �����



���	���	������� ��	�����Æ��	�
 ��
� ����	����
��� ��� �	���� �	
����� � %$

 0

 50

 100

 150

 200

 250

 300

 0  200  400  600  800  1000  1200  1400  1600

de
la

y 
(s

ec
s)

Messages

Average Message Delay

PipelinedWaveDelay_disabledLinks_5%
PipelinedWaveDelay_disabledLinks_20%
PipelinedWaveDelay_disabledLinks_40%
PipelinedWaveDelay_disabledLinks_60%
PipelinedWaveDelay_disabledLinks_80%

8��� 5(� �"�
� �� �������� �@ �� ����� ��	�
	�� ������ ��	� �	�� ��� 
������
	���� �	���
�� ���	�

 0

 1

 2

 3

 4

 5

 6

 7

 0  200  400  600  800  1000  1200  1400  1600

en
er

gy
 (

Jo
ul

es
)

Messages

Average Energy Consumption

PipelinedWaveDelay_disabledLinks_5%
PipelinedWaveDelay_disabledLinks_20%
PipelinedWaveDelay_disabledLinks_40%
PipelinedWaveDelay_disabledLinks_60%
PipelinedWaveDelay_disabledLinks_80%

8��� 57� �"�
� �� �������� �@ �� ����� ��	�
	�� ������ ��	� �	�� ��� 
������
	���� �	���
�� ������

 0

 50

 100

 150

 200

 250

 0  200  400  600  800  1000  1200  1400  1600

de
la

y 
(s

ec
s)

Messages

Average Message Delay

PipelinedWaveDelay_disabledLinks_5%
PipelinedWaveDelay_disabledLinks_10%
PipelinedWaveDelay_disabledLinks_20%
PipelinedWaveDelay_disabledLinks_40%

8��� 5:� �"�
� �� �������� �@ �� 	�� �����
�� ���	�

 0

 2

 4

 6

 8

 10

 0  200  400  600  800  1000  1200  1400  1600

en
er

gy
 (

Jo
ul

es
)

Messages

Average Energy Consumption

PipelinedWaveDelay_disabledLinks_5%
PipelinedWaveDelay_disabledLinks_10%
PipelinedWaveDelay_disabledLinks_20%
PipelinedWaveDelay_disabledLinks_40%

8��� 5;� �"�
� �� �������� �@ �� 	�� �����
�� ������

������ (!�� ����� ")���'��!	* � (!� � ")���'��!� A��
	� ���� �� �� 
�	�����
��� ��
��� �� �
������ �
���� ��� 	����	�
�
�� ��	������ ��� 
������� ��� ������
������� ������ ��� �
���������� ������ H������� ��� 
�	����� 
� ������� 
������
����� ��� ������� ���� 	����
��
�� 
� ��� �
��
=	��� ����� �
����
�� �� �� >+K ��
��� �
���� <�
� ����� ��� ���������� �� ��� ����
�� ��� ���� �	�����
�� �����
��
�

� ��� ������	� �� ���

���
	 �� ��������
�� �
���� ��� ��� ���	���� ��������
�� ��
���
� ������
��	� �� ������� 	����	�
�
�� ��	�������

%
����� 6> ��� 67 ���� ��� ������
��	� �� ��� �����
��
� 
� � 
��� ����


��
	 ��
	����
�� 
� ��
	� �� �
����� �
��� �� ��� �
0�� 2��� ���� ����� ������ ���� ")���'��!	*3�
#� ��
� 	��� �� ������� ���� ��� ������
��	� �������� ������� ��� ���� ��� �������

������ ����� ��� ��� ������� ���� 	����
��
�� 
�	����� �
��
=	����� ����� ��
���

�� 
��� ���� 6+K �
���� H������� ���� 
� ����� ������� 	���
�
���� ��� �������
	���
���� �� ������� ���
���
�� 
������� ����� ����� ��� ������ ������
�'��
 �& ��
"��# �����
�� #� ��
� �����

��� �� ���� ��� ������
��	� �� ���
���� �	�����
�� ��� ����
�� �����
��
� �� �� ���� ��� ��
��� �� ������ ��
	� ��
������ ��
���
�� �� �����
 
� ��� ������� ����� )�	��� ���� ��� ������� ���� 
�
6+++�6+++ �� ��� 
� 	���
��� �� 6+�6+ 	���� �� �
0� 6++
� %
����� 6? ��� 6; ����
���� �� �� 
�	����� ��� ��
��� �� ������ ���� ��� ������� ����� ��� 
������ ���
��� ������� ������ 	����
��
�� ��� ���� ��	������ <�� ������� ��� ���� 
3 ��� 	����

��� ������	 
���
 ��	� �
 
�� 

 ����� �����



�& � ���� ������� 	
 ��


 0

 50

 100

 150

 200

 0  500  1000  1500  2000

de
la

y 
(s

ec
s)

Messages

Average Message Delay

PipelinedWaveDelay_nodes200
PipelinedWaveDelay_nodes300
PipelinedWaveDelay_nodes350

8��� 5>� �"�
� �� ���� 
	����	���� �� ���	�

 0

 1

 2

 3

 4

 5

 6

 7

 8

 9

 0  500  1000  1500  2000

en
er

gy
 (

Jo
ul

es
)

Messages

Average Energy Consumption

PipelinedWaveDelay_nodes200
PipelinedWaveDelay_nodes300
PipelinedWaveDelay_nodes350

8��� 5?� �"�
� �� ���� 
	����	���� �� ������

 0

 20

 40

 60

 80

 100

 120

 140

 160

 180

 0  200  400  600  800  1000  1200  1400  1600

de
la

y 
(s

ec
s)

Messages

Average Message Delay

PipelinedWaveDelay_step1
PipelinedWaveDelay_step4
PipelinedWaveDelay_step8

PipelinedWaveDelay_step16

8��� '3� �"�
� �� ����� �� ���	�

 0

 1

 2

 3

 4

 5

 0  200  400  600  800  1000  1200  1400  1600

en
er

gy
 (

Jo
ul

es
)

Messages

Average Energy Consumption

PipelinedWaveDelay_step1
PipelinedWaveDelay_step4
PipelinedWaveDelay_step8

PipelinedWaveDelay_step16

8��� '5� �"�
� �� ����� �� ������

��������� ��	�
� �		��
�� �� �� ����� ��� ����� ��� 
������� ������ ���
 ����	��
�� �
��� �� ������� ��� ������ ������ ��� 

3 ��� �������� 
� �����	�� �	���� 
���
������ ���� ����	
�� ��� �����
�� ����� ��� ��� ������ 	����
��
�� �� ��	� �����
�'��
 �& �
���� %
������ �� ���� ��� ��
��� �� ����� 2���
 6 �� 6>3 ���� ���
�
���
��� ���� ������ 
� ��	� ����� ������
�� 
� �
5����� 
���������� �	��������
4� 
������� ��� 
������ ����� ��� ���� ������ 	����
��
�� ��� ����� �� 6�
:� ? ��� 6> ������ 
� � ������� �
�� 6+ �
��� ��� + �
��� 	����� �
�	� �
5�����

���������� �	������� ����	� �
5����� ���������

�� ������� ��� ����	���
�� ��� ����
���� ����� ���� ������
 �
5������� 
� ���
� �� ���� ������ ��� 
������ ������
����	
���� ��� �������� �
�� 
��� ������ C�� �����

���� ������� ������ ��
���
�� �
5����	�� �� ����� 
� %
����� *+ ��� *6 ��� ������ 	����
��
�� ��� ���� ���
��� ��������
�� ����� ��� 
������ ��� �����
�
���� �


��� ��� �
5����� 
����������
�	��������

6'( �	�� "
%��-����

4� 	�
���� ���� �	�����
�� �
�� �� ��
��
�� ���������� �	�����
�� ��� ����
��
�	��
� (������ �� ��� *++*/� <���� ��� ��������� ��
�� � '���
�� 
�	���
�


�
�
���� �� ��	� �
��� $���� ���� ����	�� �� 
�� ������ ��� ��
����� �� ��� ��������
���� �� ��� ���� 2�
��3� #� 
� ��������� ����	��� ���� ��� ����� ���� 
� ���� �	�������
��� ������� ���� ����� ���� 
� ������ �
�	� ��� ����
�� �����	�� ����
��� �� ��
��
��� ������ �� ��� �� ��� ��
� �������� )���
�� 
� � ���� 
� ��
�
��& ��	� �����
��

��� ������	 
���
 ��	� �
 
�� 

 ����� �����



���	���	������� ��	�����Æ��	�
 ��
� ����	����
��� ��� �	���� �	
����� � �%

 0

 50

 100

 150

 200

 250

 0  500  1000  1500  2000

de
la

y 
(s

ec
s)

Messages

Average Message Delay

Tag_Consec_Every_30
Tag_Consec_Every_50
Tag_Consec_Every_70
Tag_Consec_Every_90

8��� ''� %��	�& 
����
����� �����

 0

 5

 10

 15

 20

 25

 0  500  1000  1500  2000

en
er

gy
 (

Jo
ul

es
)

Messages

Average Energy Consumption

Tag_Consec_Every_30
Tag_Consec_Every_50
Tag_Consec_Every_70
Tag_Consec_Every_90

8��� '9� ������& 
����
����� �����

 0

 50

 100

 150

 200

 0  500  1000  1500  2000

de
la

y 
(s

ec
s)

Messages

Average Message Delay

Tag_Parall
Tag_Parall_Every_4
Tag_Parall_Every_6
Tag_Parall_Every_8

Tag_Parall_Every_12
Tag_Parall_Every_20

8��� '(� %��	�& �	�	���� �����

 0

 50

 100

 150

 200

 250

 300

 0  500  1000  1500  2000

en
er

gy
 (

Jo
ul

es
)

Messages

Average Energy Consumption

Tag_Parall
Tag_Parall_Every_4
Tag_Parall_Every_6
Tag_Parall_Every_8

Tag_Parall_Every_12
Tag_Parall_Every_20

8��� '7� ������& �	�	���� �����

���� �������� ����� 
������ 
� ��	�
��� �� 
�� ������� #� � ���������� �	������� ��
�	�
���� ����� 
� ������� ����� �� ���
� �
����	� ���
 ��� ����� �����
�� � 
������
�� ��������� ���
 ��� ���� �� ��� ���� �� ��� �
�� 
� � �
���� ���� �	�
���
�� ���
���
$���� ���� ���� 
� �	�
����� ��� *++
�� �� 
� ��� 	��� �� ��� �����

<� �������
0� ���� �	�����
�� �� ������ 
���
��� �
���� �� 	������	� � 	����	�
�� ��
�����
�� ������ ��� ���� ������ �� ��	� �
��� �� ���� �	�
���
�� �	������ 	�� ����
�� ���
��� 
� ������� ����� �� ��� �����
� 
� � ������������ �	������� ��
	� 
� �

�
��� � 	��	������
�� �� �	������� ��� ��� 
��
�
���� ������ <�� �

����� 	��������
��
�	������ 
� �� �	�
���� ���� ������ �� �
�� � @ 6 


��
����� ����� ��� ����� �� ����
������ �� �
�� � ���� ���� �	�
������ #� ��
� 	��������
�� �	������� ����� �����
�
������ �
�� ��� ��
��� �� �
���� #� ��� �����

���� �� ����� ��������Æ	
���
���
���� �� ��
� �

��� �	������& 4� ��=�� � ���
�� � �� ������
�� ��� �	�
���
��
�� ����� ����� #� �� ���� � �
���� ��� =��� ���� 
� �	�
����� �� �

�� 
+� �� , , ,��
��� ��	��� �� 
�	�� �@ �	�� , , ,�� ��� �� ��� <�� 
������� �	� 
� ���� ������ ��
�	�
���� ��� ����� �� � �
���� ����� �� ���� 	����	��
�� �	�
���
��� �� ��� �������� #�
%
����� ** ��� *.� ����� �	������� ��� �������� �� �� �'� #)��!" �-!�� �� �����
� 
� ��� ���
�� ������� ��� �	�
���
��� �� ��� ��
� �����

�� ��� ����� �����
�� �� 	���
��� �

������� �	������� ���� �	�
���� ��� ����� 
�
��������� #� ��� �

����� �������
�� �	������� ��
	� 
� 	����� �'� 
'�'((� 	����	��
�
�� �	�
���
��� �� ��� ��
� ���� ������ ��� ������� 


��
����� ����� 	�
����
���
#� ����� �� ����� ���������
�� ���
���� �� ��� �������
�� �	�������� �� 	���
��

��� ������	 
���
 ��	� �
 
�� 

 ����� �����



�� � ���� ������� 	
 ��


 0

 50

 100

 150

 200

 250

 300

 350

 0  500  1000  1500  2000

de
la

y 
(s

ec
s)

Messages

Average Message Delay

DutyCycle_2
DutyCycle_5

DutyCycle_10
DutyCycle_15
DutyCycle_20

8��� ':� %��	�& >3'�55

 0

 50

 100

 150

 200

 250

 300

 350

 0  500  1000  1500  2000

en
er

gy
 (

Jo
ul

es
)

Messages

Average Energy Consumption

DutyCycle_2
DutyCycle_5

DutyCycle_10
DutyCycle_15
DutyCycle_20

8��� ';� ������& >3'�55

 0

 20

 40

 60

 80

 100

 120

 0  200  400  600  800  1000  1200  1400  1600

de
la

y 
(s

ec
s)

Messages

Average Message Delay

DutyCycle_10
Tag_Parall_Every_6

Tag_Consec_Every_50
PipelinedWaveDelay

8��� '>� !���	���� �
�����

 0

 20

 40

 60

 80

 100

 120

 0  200  400  600  800  1000  1200  1400  1600

en
er

gy
 (

Jo
ul

es
)

Messages

Average Energy Consumption

DutyCycle_10
Tag_Parall_Every_6

Tag_Consec_Every_50
PipelinedWaveDelay

8��� '?� !���	���� �
�����

�� ���
��
	 �	�
���
��� �� ��� ��
� ����� #� ��� �����

����� �� ��� ��� ��
�
�'� 
'�'(( �-!�� � �� ����� �� �������
�� �	������� 
� ��
	� ��� ����� ��� �	�
����
�� 	��	�������� ����� � ��	���� 2%
����� *: ��� *83�

#� ���� 	����	��
�� ��� �������� �	�������� �� ������� � ���	���� ������5 �������
������ ��� ������ �� ��� �	�
���
�� ���
�� 
�	������� ��� ������ ��	������ �� ���
������� �� �
���� 
������ ����� ��� �
����� ������� 	���	
��� ����
	��
��� �


��
�� ������ ���������
�� ������ ���� 
��� 	���
�����
�� ��� ���Æ	 ���� 
� ����� ��
�����

�� �� ��������Æ	
��� ���� �	������� %�� 
�����	�� ��� 
��� ��������Æ	
���
	����	��
�� �	������ ���� �	�
���� � 	���	
�� �� 68++ 
������� 2�
�� ����� �
�����
���� 6++ ��	����3 ��� ���
�� 8+ ��	���� 2%
���� **3� "
���
��� ��� 
��� �������
�Æ	
��� �������� �	������ ���� �	�
���� � 	���	
�� �� 68++ 
������� 2�
�� �����
�
����� ���� 6++ ��	����3 
� �	�
����� ������

����� ����� ? ��	���� 2%
���� *:3�
������ 68++ 
������� 2��� 6+++ ��	����3� ��� ����� ��� ����� ��� �	������� ������
� 
�	����
�� ���
���� ��� 
� ����� 
�	����� �
����� ������ ��� �� 	���
���� ��
�������� 
������� �
�� ��� ��
� ���� ��� ������ ���
����

6', �   78('&& 9��% ��:�	��� �-�� ��
���

���
��� ���� �	�����
��� 
� ��
	� ����� ��� �	�
����� 
� ������� ����� �� ���
� �
��
���	� �� ��� ����� �� ���� ����� ������	������
�� ���
���� �� ��� #$$$ ?+*�66
�����	��� 4� ���� ��� ���� 	�	�� �� ��� �����	��� �� ����
�� �5 ��� ���
� ���������
��� �����
�� 	�

��
	��
�� ���� 6 �� *+K �� ��� �

�� <�� ������
��	� �� ���

��� ������	 
���
 ��	� �
 
�� 

 ����� �����



���	���	������� ��	�����Æ��	�
 ��
� ����	����
��� ��� �	���� �	
����� � ��

������
�� �	��
��� ��
�� &+��#�"(! �� 
� ����� 
� %
����� *> ��� *7� )���
�� 
�
������
�� �� 
� ������	�����
��� 
��� 
������� ������ ��� �������� ����� �� ��� �
����
A��
	� ���� ��� � ���� �� 68++ 
������� �� 	�� ���� ����	� ���� 	�	��� ������� ����
6+K� ������
�� ��� ���Æ	 ��	���� ������� 	���	
�� ��� ��� ������ 
�	����� �
���
��� ������ <�� ������ 	�� ��� ������ 
� ������ ��� ����� �


��� �� ����� ��������

� ��� ������	�����
�� �	��
��� �� ��� ���� 	�	�� 
�	������� ��� ������� 
������
����� ��	������ �
��
=	����� �� ��� ������� �� �
���� ������ ������

6'0 ��./�	���� 9��% ��%�	 "
%�.��

#� ����� �� 	�
���� �
5����� �����	��� �� =��� ����	� � ���Æ	 ���� ��� ���� 	���
�
��� ���� �����	��� ���� 	�� ����� ��
� ���� �
����� ��	���
�� 	���	
�� 2��� ��
��
�� ��
	� ������� ����� ���
�� �� 
�	����� ���
��� ��� ��	���� 6++ ��	�3� 4� 	�
�
���� ��� 
��� ��������Æ	
��� ����
��� �� �
5����� �����	��� 2�
�� 6+ �
��� ���
+K �
��� 	����3& ��� 68++ 
�������� �� ����	� ��� ���
���� �'� #)��!" �-!�� 8+�
�'� 
'�'(( �-!�� >� &+�� #�"(! 6+ ��� ��� �
���
��� ���� 2	�
�
��� �
�� ������
����� ����
��3� %��
 ��� ����
��� ������� ��� ������ 	�� ��� ���� ����� ��� ���
���
���� �� �
5����� �����	��� ���� �		�
����� ��� �
��� ���Æ	 �
�� ��� ����� ���
���� 	����
��
���

%
���� *? ����� ���� ��� ���� �����	�� ��� ��� ������� ������ �������� �� ���
���������� �	������� ��� ��� ?+*�66 2�
�� ���� 	�	�� ?K3� <�� ������� ������� 
�
�������� �
�� �����	� �� ���� ������ 	����
��
�� 
� %
���� *;� <�� ���� �����	��

� �� ��� �����
�� �5��
�� ��� 
��� ������ ���
��� 2������ �� �� ����� �� 
���
����
���� ��� ����� �	��
�3 �� ��� 	��� �� �
���� ������ <�� ?+*�66 �����	�� �
�� ����
	�	�� ?K 
� �� ��� ����� �����
� �5��
�� ���� �
��� 
������ ������ �� ��� 	��� ��
�
���� ������� <�� ������������ ������5 �� ��� ��� ���� �	�����
�� �����
��
� 
�
���� ����� ������
��& �	�
���
�� ����� 	����	��
���� 2�� ������� �� 	��	��������3
����� ������ ��	���� 
� ���
�� 
���������	� �
��� �
5����� ������ ��� 
� 
�	��� �
����

������ �����	
���

6'3  ;/�	�.���� 9��% 	��� ��������

<�
� ��	�
�� ��������� ��� �	�����
�� ��� ����
�� �����
��
� ��
�� ����� ���� �����
����� �� -B� ����� <�� =��� ������� 	����
�� *: ������
�
�� '
���� ��	����� ��
� �
��� 
� ��� ������
�
 
�����
��� 
� #����� <�� ������
�
�� ������� ��� .?�.6*
2����
����� ���
����� �

�3 ����
��� <�� ��	��� ������� 
�	����� ��� ���	�� �� 6.7
����
��� ������� ��� #����� �� ����
��� <�� ���	�� ��� ��� ���� ��� ����
�� 	���
����
��� �� ��� ����� ������� ������� �� ��� 
������ <�� ����
�� ������� ��� 6?�77>
����
��� <�� ��
�� ������� 
�	����� ��� ���	�� �� ? �
�
���� �� ��� "����� 0���
�
����
�� �� � ����� �� 6?87 ����
���

4� �	���� ��� �
0� �� ��� ���� 
� ��
	� ��� �� �	�� 
��� 
� ��	� ������� �� ���
������� �
0� �� ��� ������� 6+++�6+++��� ��� ��� �

� 
������� 
� ��
	� ���� 
���
�� ��� ������� �

����
�� �

� �� 6+++ ��	����� 4��� � 
��
�� �� �	� ������ ���

��	��
�� 2�� �3 �� �

� �� �� �������� � 
������ �� ��� ������ ���� ��	���� 	�����
�� 2�� �3� H��	�� ��� �

� ��� ��� ����	� ���� ����� � 
������ 
� ���������� ���
�����

��� �� ��� ���� ���������� ��� 
������� 	���������
�� �� ��� ��
� 
��
��
�� �	� ���� ��� ��
� =��� ����
���
��� ��
	� 
� �����
�� ����	��� �� ��� �� ��� 6+
���
����� �
���� �
��� ��� ����	��� �����
�� ���� ��� ��� �� ������ ����� �� 
� ���
����
��� �����

�����

��� ������	 
���
 ��	� �
 
�� 

 ����� �����



�� � ���� ������� 	
 ��


paragliding tourist zoo
200 78.23351 61.05059 76.0325
500 113.3456 65.64112 98.45132

PipelinedWaveDelay
with real traffic workloads

0

20

40

60

80

100

120

200 500messages

av
g 

m
sg

 d
el

ay
 (s

ec
s)

 

paragliding
tourist
zoo

8��� 93� ,�	� ��	Æ
 ������	��& ���	�

paragliding tourist zoo
200 78.23351 61.05059 76.0325
500 113.3456 65.64112 98.45132

paragliding tourist zoo
200 1.637973 1.768727 1.785936
500 1.951964 1.956561 2.100148

PipelinedWaveDelay
with real traffic workloads

0

20

40

60

80

100

120

200 500messages

av
g 

m
sg

 d
el

ay
 (s

ec
s)

 

paragliding
tourist
zoo

PipelinedWaveDelay
with real traffic workloads

0

0.5

1

1.5

2

2.5

200 500messages

av
g 

en
er

gy
 (J

ou
le

s)
 

paragliding
tourist
zoo

8��� 95� ,�	� ��	Æ
 ������	��& ������

1 9 0

1 9 0

1000secs 1000secs 100secs 1 100secs 9cells
200 76.0325 73.03195 120.1004 184.2974

1000secs 1000secs 100secs 1 100secs 9cells
200 1.785936 1.919776 1.711934 1.875527

PipelinedWaveDelay with bursty traffic

0

0.5

1

1.5

2

2.5

1000secs
100cells

1000secs
9cells

100secs
100cells

100secs
9cells

av
g 

en
er

gy
 (J

ou
le

s)
 

PipelinedWaveDelay with bursty traffic

0
20
40
60
80

100
120
140
160
180
200

1000secs
100cells

1000secs
9cells

100secs
100cells

100secs
9cells

av
g 

m
sg

 d
el

ay
 (s

ec
s)

8��� 9'� A����� ��	Æ
 ������	��& ���	�

1 9 0

1 9 0

1000secs 1000secs 100secs 1 100secs 9cells
200 76.0325 73.03195 120.1004 184.2974

1000secs 1000secs 100secs 1 100secs 9cells
200 1.785936 1.919776 1.711934 1.875527

PipelinedWaveDelay with bursty traffic

0
20
40
60
80

100
120
140
160
180
200

1000secs
100cells

1000secs
9cells

100secs
100cells

100secs
9cells

av
g 

m
sg

 d
el

ay
 (s

ec
s)

 

PipelinedWaveDelay with bursty traffic

0

0.5

1

1.5

2

2.5

1000secs
100cells

1000secs
9cells

100secs
100cells

100secs
9cells

av
g 

en
er

gy
 (J

ou
le

s)
 

8��� 99� A����� ��	Æ
 ������	��& ������

%
����� .+ ��� .6 ���� ��� ������
��	� �� ��� ���� �	�����
�� ��� ����
��
�����
��
� ��
�� ��� ����� ���� ��������� �� -B� ����� 4� ����	� �� ���	��� ���
���� ��������� ���
 ��	� �������� ��� �
�� *++ -B� ����
�� ��� ��� �
�� 8++
-B� ����
��� <�� ����
�� ��� 0�� �������� �
��� ���� �


��� 
������ ������ ��
��� �����
 ���Æ	 �������� 2��� �
������ �
�� 6+ �
��� 
� %
���� 6+3� �������

������ ��������
�� 
� ������ 
� ��� ������
�
�� �������� <�� ����� �������� �
���
���� �


��� ������� ������ 	����
��
�� ��� ���� ��� ���� ���������� <�� ������
����� ��� ���� 
� ��
��� ��� ��
� �� 
� ��� 	��� �� �����
 ���Æ	 ��������� 2���
�
������ �
�� 6+ �
��� 
� %
���� 663�

%
������ �� �

������ � �	����
� 
� ��
	� -B� ����
��� ��� ��������� 
� ������
���
�� �
��� 
�������� �� 
� �
��� ����� �� ��� �������� 4� �����	� *++ -B� ����
���
���
 ��� 0�� �������� ��� �	��� ���
 �
5������� 
� ���
� �� �

� ��� ���	�� ������
��

� �
5����� ���Æ	 ���������� �������� �� ��� ��� ��
� ������� ���� 26+++�6+++
�� �		��
�� �� 6+�6+ 	����3 ��� �

����
�� �

� 26+++ ��	�3� �� ����	� �
5�����
������ ����� ��� ������ ��������� �� N��� �	�N ��� ���	�� �� 
��
�� �� �	��� %
���� .*
����� ����� 
������
���� ��� �	�
�� ����� �� ; ��� 6++ 	����� ��� �	�
�� 
��������
�� 6++ ��� 6+++ ��	�� %
���� �� ������� ���� 
������� ���� ������ �� �� ����������
���� ���� ��� ��������� 
� ������ 2
� ����� �

� 
��������3 2	���
�� 6 ��� .3�
4� ���� ������� �� �
��
=	��� 	����� 
� ��� 
������ ����� ���� �� ����	� ���
�	�
�� ���� 
� ��
	� 
������� ��� ��������� 2	���
�� 6 ��� *3� ������ ��� ���� ���
��	����� ��� �������N� 	���	
�� 2	���
�� . ��� :3� %
���� .. ����� ���� ��� ������
����� �� ��	� ���� ��

��
�� ������� �� ��� ����� ��
��� �� 
������� ����������

��� ������	 
���
 ��	� �
 
�� 

 ����� �����



���	���	������� ��	�����Æ��	�
 ��
� ����	����
��� ��� �	���� �	
����� � � 

�	���� ��� ������� ��� 
� ������ 

��	��� �� ��� �

� 
������� ��� ���� 
� ��
	�

������� ��� ����������

<' � ��� � 1���

(�) ���
������ #$$$ ?+*�66 (��	
��� 6;;;/ 
� ��� 
��� �
���� ���� 	������
���
����� �����	��, �������� ����� 	�� ���
��
	���� ��
�	� �� � ����� ���
�� 
����

� ��� �	�
�� ���
��� ���� ��5�� ���
 
���������	� ��� ��������
��� <�� B����
��1������ �����	�� ����� ���
�� �5 ���� ����� ��� ��� 	�

��
	��
�� (�
��� �� ���
/� ��� 
� ����
��� � ��	��� 	������ ��� )<��1<� 
�������� B
	�A�� ���� ������ ��
���� �� ���� �5 ���
� ���
�� (������� �� ��� 6;;7/, � ���� �
��
�� �� 	�

��
	���

��� ���� ����� �
����
�� ��� � �����	��� 
������ ������	
�� 
�� ��
�����N� ���	�
�
���
��� #� ����1 (E� �� ��� *++*, *++./� ����� ��� ��	���� ���	����
0�� �� ������
� ���
��
	 �
���� ��� ����� �	��
�� ����1 ���� ��� ����
	
��� ���
� 	������
��
��� ��� 
��
�
� ��� ����	�� ��� ���
�� �� ��������
�� �� �������
�� ���� ��<�
��	���� �
�� ���
� �
0�� A��� ��� <)��� ���
� ��� 	���
�
��� �� ��� ��1 �����
�� ������	
�� ��� �	������� �� ����� 
� ��� *���� ��
��������� ��� ���	�
�� �����
�� �����

� 
� � �
��� �

� ����� C�� ����� ���
� �	������ ��������
�� ���������
�� ��� ������� �� ���
�� =��� ����� ��� ����� ���� �	�
���
���

#� � ��	��� 
���������� ����� ������	���� ���� ����
�� ��� ������
 �� �����
�	�����
�� 
� ������ �������� �� 

�


0� ���������� 	�

��
	��
�� ������ ���
���� ����
��� � ��
��� �� 	�
����
�� ������� ��� ����
��
	� ��� ������ ��
��� ���
������� ������ ("� �� ��� *++8/� <�� ����
	���� ������
 ���
����
��� �������� 
�
�
5����� ���� ����� <��
� ��	�� 
� �� ���
��
	 �	������� 
� ��
	� ��	� ���� 
�
�	�
����� ��	� ����� 
 ������ ��� � �
��� ����
���� 
� ��
�� �� ����� 
��� �������
���
��
	 �	�������� %������
���� 
� ��� ������ �� ���� 	���
��� ��� 
�����	�
��
�� �	�
���
�� �	�����
�� ��� ����
�� 
� ��� ���
�� �� ������� ��� ���������

��
	�

��
	��
�� �	��
���
*��
��� 	�����
���� ������� ����
�� �����	��� ��� �����	 �������� ���� ����
�������� 
� ��� �
�������� (B���
�� ��� ������� 6;;:, F������ ��� ����0 6;;>,
���	� �� ��� 6;;?, B���
�� 6;;;, B��� ��� 1����� 6;;;/� <���� ��� ���� ���� �
�������� �� ���� �� ������������ ����
�� (1���� ��� <���
���� *+++, �
��� �� ���
, E� �� ��� *++6/ ��� �
����� 	���
���
�� ��� 
�������� �� ����
�� ��� �	�����
���
<�� <
���� B�� �	� �� �������� 
�����
����� ���������� ����
�� ��� �	�����
��
��	��
���� ��� ������ �������� (������ �� ��� *++*, H��������
� �� ��� *++./� ��
��������Æ	
��� ��������
�� ���� ��
�� �����	����
	 ��
����	�
��� �������
�� 
� ����
����� 
� (#���������
��� �� ��� /� � �����
�� ������	� ��� ���� �
���

���
�� ��

���
��� 
��
�� �
��� 
� �
�	����� 
� (E� �� ��� *++*/�
*	��� (���� �
������ -������ �� ��� ������� �� �
�
�
	�� ����� 
�����
�� 68+

��������� ������ ����� (-������ �� ��� *++*/� 
� ��
	� ���� �
�	��� ��� �
��	�
���
��
�� ��� ���

���� �� ���
� ��������
��� <��
� =��
�� ���� �� ����� �
����	��
���
 ��� �����

����� � ����
�
��� ���	������ �� �
��� ��� ���

���
	 
� 	���
�����
�
�� ��� ����
��
�� ���� 
��� ���

���
	 �
��� ��� ����� �� �
����	�� �������
���� ���� ��� 	�

��
	��
�� ����� 2%
����� 6: ��� 683� -������ �� ��� ���� ����
��� ���
�
�� 
�'���	� �� �����

� ����� �� ��� ���	������ �� ��

���
	 �
��� �� �
�
��� �
����	�� %�� ��� ��������� �� 	���� 	��
����� ��� �����

� ����� �� ���� ���
�������� ���	������ �� ��

���
	 �
��� ��� �� � 	���N� �
����	�� 9��0 �� ��� (9��0

��� ������	 
���
 ��	� �
 
�� 

 ����� �����



�! � ���� ������� 	
 ��


�� ��� *++./ 
��������� �
� ����� ��
�
� ���� 
��� �����

����� ����
�� ���� ��� ��
��
�� 63 ��� ����� 
� '��� *3 � ���
�N� �����

��
�� ���� 
� 	
�	����� .3 ��� ���
�� ����
����� ������ :3 
� # 	�� ���� ���� ��� 	�� ���� 
�� 83 
� # 	�� ���� ��� �� ���� #
	�� ���� ��� �����	���� ��� >3 �
���� ������� 
� � �

��� ���	�
�� �� �
����	�� <��
������ �� ��
	� ��� �����
��
� ���� �� ����� ��
�
� 
� �
�	����� 
� ��	�
�� .�*�
J��� �� ��� (J��� ��� -��
���� *++./ ������ ���� �� �� � 	����
� �
����	� ���
 ���
������� ��	��� ��	���
�� ����� ��� ��
���
�� �
�� 2��� �
	� 
����3� ������ ��
�
���� ����� 
� � ���� ���� 
� ��
	� ��	���
�� ����� 	�� ���� ���
��
	���� �������
�
5����� ������ <��� ���� ������ ���� ��� ��	��� ��	���
�� ���� ���
��	� 
� ���
��� ��� ��	�
���� �� �� ��
� �
����	�� ��
	� 
���� ���� 
��� �
��� �
��
� � 	���
��� 	���
������� ���
����� 1���� �� ��� (1���� �� ��� *++./ 	�
����� 	����	�
�
�
�� 	���
�
��� ������� ��� �
	� 6 ��� �
	� * �������
�� <�� ����� 
� ��
�� ��
�
	� * 
���� �����

��
�� �� 
��
�
��
�� ����� 
� �� ������� ���
��� ���
�
���
���� �
�� ���
���� ������
�
�
�� �� ��� �
����	�� �
��
� ������ <�
� ����� �� � ����
��
����� �	����
� ��� ����
�� ��� �����
��
�� H������� �
	� 6 
���� �����

��
��
�� 
��
�
 ����� 
� �� 
����� �Æ	� ���
�
� ����� ���
��
�� 
� ��	���
�� ���� ���
��
��� ��� �
����	�� ������� 
��
�� ��� �����
��
� ����
����� 
� ��
� 	���� ������
�� ��� (������ �� ��� *++:/ ������
 � �


��� ����� ��� 
� � ?+*�66� 
��� ��������
<��� ������ ���� 
��� ����� ���� 	�� 	�

��
	��� ���� 
����
��
��� ���� ������
��� ���� ��� 	�������
�� �� �
����	� ��� ���
���� ������
�
�� 
� ����� C�� �����
�
��
� ��� ��� ��
����� ��� ���
���
���� ����� ��� 
� ��
�� �� �
��� �
��
� � 	���
�� �	���� �� �	��� 	���� ��� �
���� ���

���
	 �� �����
����� ������ �� ��� ���� ����
����� 
� 	���
������� �
5����	� ���
 �
�� �� �
�� 
� ��� ���������� �� ��� ���
����
������
�
��� ��� ������ ���� ���� � �
��
=	��� �������� �� �
��� ���
�� ��������
����

� ���� ���� ���
 ��� ��	��� �� ��� ����� <�� 	���
����	� �� �
�� ����
�� ���� �

�

� 

�������� �� 
� �������� ���� ����
����� �������� �
�� ��� 
��
�� �����	���
�
�� ������ ���� �� ����
� ������
���� ������� J��� �� ��� (J��� �� ��� *++>/ ����
�
�	��� ��� 
��������
�
�� �� ���
� ��������
�� 2��
�������� 	���
����� ���
��
�� ���
�
5����� ����
�� ������3 ��� ������� ��� )#� 
���� �� ������

��� ���
� <���
����� ��� 

��	� �� ���
� 
��������
�
�� �� ��1 ��� ����
�� �����	��� 2��� � �


���
�
�	���
�� ���	
=	 �� ��� �����
��
�� ��� ��	�
�� .�*3�

7' ������"���" ��� *���� 1���

#� ��
� ������ �� ���� ��������� � 	���� �� �����
��
� ���� ����� �� �� ����� ������
������ ����� ��� ���� �
���

���
�� 
� ������ ��������� C�� ������	� 
� ����� ��
	�������� ����	����
 ��� ������ ����� �� ���� ��	� ���� 	�� ���� 
��� 
��� �� ���
�

�� ����
�� �� 
�� ���
� ���� �� �	������� 
�������� ���
�� ��
	� 
� 	�� ��	�
��
�� ���� 
�������� �������� 
� 
� ���� �� 	�
�
�� �� ���
����� ����
�� �����	��
�
�� ��� �������� ���� �	�������� ��� ���
�� 
�� ��� ����� �������� ��� ������
��
�� ���� �	������� ��� 	���
�
�� ���
���	�� C�� ����
�� �����	�� 
� ���
���� �� 

��



0� 
���������	�� ���� 	�
�
��� �
�� � ���� �	������� ��
��� ��
�
�
�� ������
�� ��	��
0��
�� ������ ��� ���
� 
��������
�
��� C�� �����

���� ���� ���� ��� ����
����� �	�����
�� ��� ����
�� �����
��
� ������ 
� �
��
=	��� ������ ���
��� �� ���
������� �� 
�	������ 
������ �����	��

#� ��� ������� �� ���� �� ����� 
�������� ���� �	�������� 
� ��
	� �� ����� ���
	������ ����
��
�� ���� ����� �
��	��� ���� 
� ��� ������� 
� �	������� ���������

��� ������	 
���
 ��	� �
 
�� 

 ����� �����



���	���	������� ��	�����Æ��	�
 ��
� ����	����
��� ��� �	���� �	
����� � �"

��	� ��� ���
��� ��� ���� ��� ��� ��
� 	���	
��� #� ���	�
	�� 
�	�

�� ����� ��
�
�� ����� ��� ����	��� �� �� 
��� ����
�� ������ ���� ����� �� ��� ������ �� ���
�������� 4� ���
��� ���� ������ ������� ��
�
0��
�� 	�� �� �	�
���� �� 	���
���
��
� 
��� ������� 	���� �� ���� �	������� 
� ��
	� �
5����� ����� ��� �	�
����� �
��
�
5����� ������ %�� 
�����	�� ��� ������� 	�� �� �
�
��� 
��� �
������ 2�����������
�	�
����� �����3 ��� ��
������ 2����	���	
�� �����3� #� ����� �� 
�������
�� ��
����� ��� ������5 ������� ������ ��� ����� 
� ��	� �� 
�������� 
�����

���������	
����

4� ����� �
�� �� ����� ��� �����
��� ���
����� ��� ��� ��
��� ��� ���
� ��������
	�

����� <�
� ���� ��� ��������� 
� ���� �� �� ������ B� ����� %�������
�,
�� -����� ##��+6*6678� ##��+6..:?6� ��� ##��+..+*+6 ���
 ��� A��
���� �	
��	�
%������
�� �� ��� O�
��� ������, �� -���� �%C�) %:;>*+�+*�6�+*.. ���
 ��� �
�
%��	� CÆ	� �� �	
���
=	 )�����	� �� ��� O�
��� ������, ��� 1������ #����
��
��
�������	� #���
����, ��� �� ��� ��
�
�� $��
����
�� ��� B���
	�� �	
��	�� )�����	�
1���	
� 2$B�)1 ����� $BP18:7>:+P63� ��� ��
�
���� =��
���� 	��	���
��� ��
��	�

�����
��� ��������� 
� ��
� 
����
�� ��� ����� �� ��� ������� ��� �� ���
��	�����
�� ��'�	� ��� �
��� �� ��� ���������


���
�����

������� ��� 	
��
�� ��� 	
����� ��� ����� ��� ��� ����
�� �� '33(� B��������� ��	���������
���� 	� >3'�55
 ���� �������� �� ����������	 �
 ��� 
����� ���
������ �
 ��� ������� ������	�
����� �� ���� ������������� ���������� 5'5C59'�

	���� �� ��� ������������ �� �� '333� , % ,&  � ���
������� ,8�
	��� ���� ��
	����
	�� ��	
���� ������� �� ����������	 �
 ��� ���� ���
������ �� �������� �������������	
���������� ;;7C;>(�

	
��
���  �� !����
� ��� "#���� ��� $�%%
�� ��� ���
�� ��� ��� &
���� �� 5??;� -�
����&
��
����� ��
��� D���������� ���� ���	���� �������������	 � 7 <E
��=� >C57�

	�
����� &�� "���
�� ���  ���� '��  ����� ��� $

�
����� ��� $
���� ��� $����� ��� ��(
!���
� ��� ��������� '�� )�� *�� ��� *�� $� '333�  ��	�
�� �� ������� �����	����� ����
�������� !! 7 <�	�=� 7?C:;�

	����� ��� ����+� �� ��� �������� �� 	�� $�� *�(!�� ��� �
���
#�� �� 5??>�  �������	�
�

���	����� �� ��������� �������� 	� ��
 ������� ������� �����
���� �� ����������	 �
 ��� 
�����

��"���� ������������� ���
������ �� ��#��� ��������� ��� ���$��%��� ���&������
>7C?;�

	������ ��� $

�
����� ��� ��� "���
�� �� '333� .������� ��� 
��� ������� ��
	���	���� ���
���� ��	�� ����
��� ���� ���	���� �������������	 ����'��� ( 7 <E
��
��=� '>C9(�

!
�%�� ��� 	��
�� ��� ��� "���
�� �� '339� �
	��& 	 ���� ��� ������ 
����
������ 	��������� ��
����� ������������� /�
�� ����� F!B � !�D��'5�

!����� ��($� ��� ,���
����� &� '333� ������ 
��������� ������� �� �������� 	����
 ���������
�� ����������	 �
 ��� ���� ���
������ �� �������� �������������	 ���������� �����
B��  �	������ ''C95�

!�
�� 	�� ���

���� '�� 	�����
������ $�� ��� ����
�� �� '33'� ��	�&  ��������Æ
����

������	���� 	�������� ��� �������� �	�����	�
� �� 	� ��
 �������� ��������� 
�� )�����		
���$��%	 * 7 <������
��=�

!����� 	�� !�������� !�� ��� �������� �� 5??3� F��� ���� ��	���� ��	����� ����������	 *+�
5:7C5;;�

!������� �
��-� '337� %	�	����� �� ��� ��
	' <���(33

= ������ ���� ��	������

"����� ��� �
���� &�� ��� "���
�� �� '33'� 8������	���� ������� ���� ���
������	���� �����
�������
� 
��	�
	���� 
�� ������ ��������� �,	���	 -�.��$ ��/ ��,	���� �����
��� !+�
5(;C5:9�

��� ������	 
���
 ��	� �
 
�� 

 ����� �����



�# � ���� ������� 	
 ��


���
�
���� ��� '����� ��� ��� ��
#����#�� �� '339� /���������
 �����
�� ��� ������ ��������

�� �� ����������	 �
 ��� ������������� ���
������ �� ��#����� ���$��%�� ���	�� �,	���	
�����0��� 59>C5(?�

���
���� ��� '�
����������
� 	�� .��� ��� !���
�� ��� "���
�� ��� ��� .
��
�� �� '33'�
!������ 
��	���� 	� �
	��&  � ����������	� ����� �� ��������� �������� ������ ��������� /�
��
����� F!B � !�%�/, 3'�3359� 8�
��	���

���
�� �� ��� �������� �� 5?;;� /�� ��
������	� ������� ���� ���
��� �� D-�
�������� ��
�
1������ �� 
������ ����������	 !2� >':C>9(�

���
�� �� �� ��� �������� �� �� 5?;?� ��������	 ��� ��������#����,/ 
 ����� �� ��� 3����,
�
 ��4����������		� 8����	�� D�� 4����

����
� ��� ����������� ��� ��� !������ �� '339� ,�������� �	�	�
�����
 ����	�� �� ��������
	����
 ������ ��������� �� ����������	 �
 ��� ��� ������������� ���
������ �� ��#��� ����
���������� ������ (7C:'�

$
��
���

�� ��� $���� .�� ����
�� ��� ��� ����
�� '� '339� A����� 	���	��& /��	���
��������
	��� ������� ���� 2������� �� 2�� ������������� )��%	��� �� ��
�������� �����		���
�� ���	�� ���$��%	 �������

/���������
���� !�� ��#
����� ��� ��� "���
�� �� %���
��� ��"�����&  �
	�	
�� 	�� ��
���

������
	���� �	�	���� ��� ������ ��������� �� ����������	 �
 ��� ������������� ���
������
�� ��#��� ��������� ��� ���$��%��� ���&������ 7:C:;�

�������� �� 	� ��� ����+� �� �� 5??:� %��	��
 ����
� ������� �� 	� ��
 �������� ��������� ��
��#��� ���������� ���������� 	�� 0����� ���� /�� 0����� ������	����	� ������ �� �����������
	�� !������� �
���
�� ���� 979� 0�����  
	����
 -�
��������

'���
�� 0� '335� ������ 
����������� /�
�� ����� �����������
�� /�
����
�� G�
��
���� <�/G=
H���
�� �������������	�
�������
����
���
�
�������������
�
��� �����������������

'��+� ��� �
�%���� !�� ��� "��
���� !� '339� /�� ����	��� 	����� �� ���������������� ���
��	�
�� /�
�� ����� %	������� !������ !������� �
���
�� /,'339�(:;� I����

&���
���
�� '� ��� �

1
��� �� '339� %�����
���� ��
	���	���� �� �������� ������ ��������& 	
2�	����	���� 
���	������ �������� ���$��%	 �! (� (??C75>�

&�� ��� ������%��� ��� '�
����������
� 	�� ��� ��
�� �� '337� %��	� �Æ
���� ����� �
������
��� �� �������� ������ ��������� �� ����������	 �
 ��� ���� ���
������ �� �������� �����4
��������	 ����������

����
�� �� ���  �����
�� �� ��� $
��
���

�� �� ��� ��� $���� .� '33'� / .&  ����
	�����	���� �����
� ��� 	����
 ������ ��������� �� ����������	 �
 ��� �,���	��� �� ���������
�,	��� ��	��� ��� �������������� �������

����� �� ��� !������ �� 5???� /�����	����������� ������� 	�������� <���	= ������� 5 ���
����	�
���
�#
	����� �������� %�	��� ����&11������������1�����������	���1��	���������	�������	����
�
3'�����

�
��
��� !� ��� 	������� �� 5??(� G����� ���	��
 ������	�������2���
�� ����	�
����
���
������� <%�%J= ��� ��
��� 
��������� �� ����������	 �
 ��� 
����� ���
������ �
 ��� �������
������	� ����� �� ���� ������������� ���������� '9(C'((�

�
��
��� !� "� 5???�  � ��
 �� ���	�� ����	�
� ��
��� <	���= �������� �������� %�	���
����&11������������1�����������	���1��	���������	����	����3(�����

���������� ��� '��%� 	�� *
�� &�� *��  �� "���
�� ��� ��#
����� ��� ��� ��
��
�� �� '33'�
.��&  �����	���
 �	�� �	
�� ��� �	�	�
�����
 ����	��� �� ���	� 
�� ������������� )��%	���
�� )�����		 ���	�� ���$��%	 ��� 
����������	 �)��
��

�
�� �� ��� $����� �� 5??:�  ��� ����� ��� �
�������� �	
��� �	��� ��������� �� ����������	

�
 ��� ���� ���
������ �� �������� �������������	 ���������� 555:C55'(�

�
���� ��� .��� ��� ��� �����#
����� !� �� -�����	�	�� ������� �� ��
��� 	� ��
 ���������
�� ����������	 �
 ��� 
����� 
��"���� ������������� ���
������ �� ��#��� ��������� ���
���$��%��� ���&������ 5>5C5?3�

���

��� /� !� 5???� �������� B D ������ 	

��� 
������ <�	
= 	�� �����
	� �	��� ���
�#
	�����
���� ��� >3'�55�

��
��� �� ��� '��+� �� 5??;� ��	������ 	�� ����
��� ������ 
���������� �� ������� ������	
��
�� �	������� ����
��� ����� 3���	������	 �� �������������	 �*54&� 55'7C5595�

��� ������	 
���
 ��	� �
 
�� 

 ����� �����



���	���	������� ��	�����Æ��	�
 ��
� ����	����
��� ��� �	���� �	
����� � �$

,�
���
� ��� *��� *�� �
�
��� ��� �
���
� ��� ��� ��1������� �� '33(� �	���
��������&

��������Æ
���� �	�	 ��������	���� ��� ������ ��������� �� ������������� )��%	��� �� ����
���������� 
�� ���	�� ���$��%	 �������

.
��
�(���
�� ��� ,
���
� ��� ���
�� ���.
���� ��� ��� ���%��� �� '337� 8���K����������
������ ������� ���
�����
��� ���� ��	�����
 �	��� �"�
��� �� ����������	 �
 ��� �������������
���
������ �� ��#����� ���$��%�� ���	�� �,	���	 �����0��� 5('C579�

)�� *��$

�
����� ��� ��� "���
�� �� '335� .����	������������ ������ 
������	���� ��� 	� ��

�������� �� ����������	 �
 ��� ������������� ���
������ �� ��#��� ��������� ��� ���$��%���
���&������ ;3C>(�

*
�  �� &��� $�� !�
��� ��� &�� ��� ��� 2����� &� '33'�  �������� �	�	 ��������	���� ����� ���
�	�����
	�� �������� ������ ��������� �� ����������	 �
 ��� ������������� ���
������ �� ��#���
��������� ��� ���$��%��� ���&������

*
� .�� $

�
����� ��� ��� "���
�� �� '33'�  � ��������Æ
���� � ! �����
�� ��� ��������
������ ��������� �� ����������	 �
 ��� ���� ���
������ �� �������� �������������	 ���4
������� 57:;C57;:�

*
� .�� $

�
����� ��� ��� "���
�� �� '339� ������ 	

��� 
������ ���� 
������	���� 	�	��
���� �������� ��� �������� ������ ��������� /�
�� ,��� ����/,�7:;� F�!1������	���� �
���
��
���������� I	��	���

*�� *�� ��#
����� ��� ��� "���
�� �� '335� .����	���
	� 	�� ������ 	�	�� �������&  ��
������
�	�	 ��������	���� �����
�� ��� �������� ������ ��������� /�
�� ,��� F!B 1!�%�/,�35�33'9�
F��������� �� �������� !	�������	� �	��

2���� �� ��� ��#
����� �� '339� F������	����� �	
��� �������� �������	�
� �� ����� �����
���� ������ ��������� �� ����������	 �
 ��� ������������� ���
������ �� ��#����� ���$��%��
���	�� �,	���	 �����0��� 5C59�

2���� ��� $
� ,�� '�
����������� ��� ��� ������#
�� �� '33:� ������ 	�� ��������� ��� �	���
�������	���� �� �������� ������ ��������� 
�� 3���	������	 �� ���	�� ���$��%	 2 '� ''5C':'�

,�
�����  ���� '337 ������� ������
�� '33:+ 	

����� ����� 4�	�

��� ������	 
���
 ��	� �
 
�� 

 ����� �����


